~ I U DY L. ENTIRRE

TNPSC GROUP I PRELIMINARY EXAMINATION 2022

Alterations in the environments represent selective pressures upon the population to which it

must adjust. This statement infers that

a. Organisms will increase in population in a changed environment.

b. Organisms which fail to adjust to the changed environment must vanish.

c. Organisms will alter their morphology to adapt to changes in the environment.

d. Organism will change the environment under selective pressure.

e. Answer not known

SBBIFGWeI0 gBUBL  IBBHIGET, WwdHseT [/ mar  HTad®LE Ffl  GFuiw

BHTHOHBEBLILILL.  SHI(PSHHHISHM6NDH GHBISHDH OB 6IAILMS DHDH B HMSB 2 60lTHHIH MBS

a. wrfleumbd GHwelsd o ulfleamiser OFHTma DI EL0

b. wmiw Gwasd gbu wiprs o ulflamsst oufba CGurs GHNGD

C. FBBIFGHWeIe0 gBUBLD WLIBBRSEHHE gBL 2 uliflemiseT SHHIGET 2 (he SewlenL! rBpds
OBT6ITEIHLD

d. CaibeHBHEHIIL L_IDSHSHH@T S1D. 2 ulfeimbiseil @060 LDTHBHBID

e. alewL Ogfluseisvensd

Gauemtigu

Which is the stronger acid than'phenol due to the presence of three same electron with drawing
groups

(i) O-Toluic Acid
(i)  Benzoic Acid
(iii)  Salicylic Acid
(iv)  Picric Acid

a. iii only

d. iv only

Hamensy ol euedenp 1O/,

CuBmBIeTem Sblevld 61517
(1)
(ii)  Ouerrsmuis Sblevd
(iii)  gmeddlels oiflevd
(iv) Uasfs oulevd

a. iii 1o (B

d.iv L @B

3. Match the following:
A. Polyethyleneglycol

B. Bt Toxin
C. Glyphosate
D. Proline
A B C

1 | Page

b.ionly
e. Answer not known

O - LTeuls Sil6ed

b.i w @b
e. allewL  Ggflualsvenso

1. Herbicide
2. Stress Tolerance
3. Insecticide
4. Cell Fusion
D

c.ii and iv only

BB ey HICH eTeVELITRI  HeuT Hperr OBTeWIL  COFHTGHH6i

C. il LoBmID iV 1oL (BHLd
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e. Answer not known
BPHBMIL MDD CILIT(HHSHIS.

A. umed erdHlellent Hlenenammed 1. Bm6nH6Hmeve
B. Bt p&assei 2. SWHP FHILSHSHENENLD
C. danenGumBsL_ 3. YFHE0sme060
D. yGymelesr 4. 2 ulgem Gemenie)]
A B C D
a 3 4 1 2
b. 2 1 4 3
C. 4 1 3 2
d. 4 3 1 2
e. allenL  Gafwalsvenev
__ was the first mission to be operationalized under the National Action Plan on Climate
Change (NAPCC)
a. Solar Cities Programme (SCP) b. National SolarMission,(NSM)
c. Solar Green Building (SGB) d. Development of Solar Cities (DSC)

e. Answer not known
SHTeuHlenev  LOTBBLD GBS — B8l OCFwed HL ST FD OCFWOLGHHULL 2 6T6m (LpFHeD  Liewf

LS LD.
a. Gilw gef HBIBIGHT SHILL D b. Gaflw @fw gefl L6l
Cc. Gflw gofl LFMF SLIGL 1D d. &M g BayEIBeN6ET euerTdF

e. allenL Gz fwaledensn

Which Biodiversity park in-India was announced as the 1st “Other Effective Area - based
Conservation Measures” (OECMs) site?

a. Tilpath Valley Biodiversity Park b. Aravalli Biodiversity Park

c. Yamuna Biodiversity Park d. Adayar Ecopark

e. allewL  Ggflualsvenso

@hFHwmaled o 6Ten 6hg LIEOEIUIT LBIST, (LPSHeOTeUH LIWLEIGTeN LGS &Tihg UTSHISTLL SHeNLoTe
(OECMs) amailasiul (Heiteng.

a. FHeoud UeTeNHHTHEG LGOI LLBIST b. ayacbed LELEUITI LBIET

C. WI(LPGIT LIGOEIUTTI LRI d. 9 LWTy FBBIFG RIS

e. alewL Gaflwailsdenso

PM Gatishaki is a transformative approach for economic growth and Sustainable Development
which focuses on

a. Educational Development b. Multimodal Connectivity c. Empowerment of SHGs
d. Environmental Development e. Answer not known

PM adgsd) eeug  QUImenTHTy  auenTddl OBE@ID  HeneOWTel  eUeMTFSobEHTer  OTBH DG

(POBWTGHL B G B0 HAURND CFNSHHIFBSI.
a. Heval eleNTF b. usips Bmewia] c. SHGs-651 @18)amyib
d. sBorLs GBe aleniTed) e. allewL G flualsvenso
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10.

Which one of the following is NOT an objective of the Union Government’s ‘Beti Bachao Beti
Padhao” scheme?

i Prevention of gender biased sex selective elimination

ii. Ensuring survival and protection of the Girl child

iii.  Ensuring education and participation of the Girl child

iv.  Creating a fixed deposit in the name of the Girl child concerned
a.ionly b.iand ii c. iii only
d. iv only e. Answer not known

spareoiueupmeT o1gk  ‘Cuilly wusCsm, Guily ushBHT aib @aMw OIfar HLGHar CrToHsd
SHemLwimgl?

1. ureden SiglitenLuleorer GCaiey HhsHHMeNsH HeL OCFUISH60

ii. QUeRT GLHMSHBeMeT 6UTDe| BEID LTHSTUIeneT 2 mig CFuIgHe0

iii. QuewT GLHmSHBeMer &eval LBEID LRGCHBLImT o md GCFUIH

iv. FubsiuL L Guent Gbhmauler Guwfled BIbsy emallilydh CHTmsmU gBLGSHSHIHE0

a. i’ (B b.i wBm ii C. iii ol (hb

d.iv wl @G e. alewL OxfNweaisbensv

Arrange the following Indian Women Olympic Medal Winners in Chronological order

1. Saina Nehwal

2. Lovlina Borgohain

3. Sakshi Malik

4. Karnam Malleswari

a.2,4,1,3 b.1,4,2,3 c.4,1,3,2

d.4,1,2,3 e. Answernot known

@elblld GuTliguiled LSHB&ED Oelams Lleeumb SbaHul wHeaiemy smeveuflenalig (WweaplLBGSHSHa D
1. ewgem GbHeuTed

2. evelelerm QUITTEHTeM 60T

3. gmeg Lomelld

4. itewitd eVE6verveu

a.2,4,1,3 b.1,4,2,3 c.4,1,3,2
d.4,1,2,3 e. alewL  Gafuialevemev

Palmer index is associated with which of the following natural disaster?

a. Earth quake b. Volcano c. Drought
d. Flood e. Answer not known

uteoom GPIUWIG SsTamid RH BuBend FBBHCHTH CHTLTLmL WIS
a. BleupBHEsD b. eflienev c. aupl &
d. Geueitenid e. alewL OFflwalsbensv

On April 10, 1802, the Great Trignometrical Survey of India Commenced its work from
city.

a. Delhi b. Calcutta c. Bombay

d. Madras e. Answer not known

AhHw  (pEHCamamaluicd SLuley Hmeuetd eglgeo 10, 1802 -gub  SLewi(h BSBM60  HeSDI
Suialemerd CFHTL Mg

a. GLeved b. &evsHHT C. Libumul

d. waymed e. alewL OFflwelsveneo
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11.

12.

13.

14.

Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022 Nobel prize in Chemistry
for?

a. For the development of click chemistry and bioorthongonal chemistry.

b. For discoveries concerning the genomes of extinct hominins and human evolution.

c. For the development of asymmetric organocatalysis.

d. For the development of a method for genome editing

e. Answer not known

&8ymedest GUTGLmTenY, GomiTLeir GosvLed W@BmId Cufl agmiTdheviTerd SLBGWITT 2022 LD 66T (HEHBT6T

Gougluiweled e1dpmars GmTusd ufleng OleusatmmT?

a. Feafld GabledL oBmId LBWT STHCHTH GoLdlerdl fMuler euenTEFHHHTH

b. oufibasiGurer Gamrrilevflev1eb 61T 681 LOT LIG5> & 61T LOBBILD Loell & uflewTmLoLD umslwl
ST BLNQLIL|BOTHHHTH

C. Fw&FFIMB Y THCHMBTLe0Flenilelr ouenT&FHHHTH

d. wyueml engl gm (WeOBUIST eueTTFHSBTH

e. alemL Ogfwalsdeney

Which one of the following Indicator is not used to calculate”Human Development Index
(HDI)?
a. Life Expectancy b. CPJ c. Education Index

d. Per Capita Income e. Answer not known

LeteuheussiouBmled  6lhdH  @(h o GUSMLlY  elgeuer  Cuibust B  GPuilemL s  sewidbdL
LWETUGSSILIBeS606m607

a. GUMDBT6T HT60 |66 b. m&TGautt alemev Gfuih c. soval GBuiB

d. seflbuUT euHIDTeID e. el O fluailsdensy

“Nambikkai Inaiyam, (NI)” a Tamil Nadu Government project about

a. Statewide Block ‘¢hain infrastructure

b. Source of resident data for Tamil Nadu

c. Unified access to e-services of different government departments

d. Providing professional resources and training to decision makers

e. Answer not known

“Nambikkai Inaiyam (NI)” sliper ops SiLbd uBpswg

wrhev  peugid Block chain o eftal Lenioriy

SOWPBTIBETE Guflend Sresailer QuSTI

UeLGouml SITFTHIGS HWBHeT6T e-CFmealdbEhdHHTal QHRISNEMHSH DIEWIH6ED
WPROBLILIAITHEHDHEG OCFHTIHe0HIMB IeTHIS6T WBHID LUIBFEHmen aIpmIG 560
allenwL  OFfwealedensv

oan o

Kalaignarin Anaithu Grama Orunginaintha Velan Valarchi Thittam aims at

1. Increasing the cultivable area

2. Bringing fallow land under cultivation

3. Changing the crop pattern with introduction of new crops.

4. Augmenting water resources

a.1, 2 and 3 are correct b. 2, 3 and 4 are correct c.1,2 and 4 are correct

d.1, 2,3 and 4 are correct e. Answer not known
BHMELEHMNET DIMTHH HITD QHEIF menihd GouerTent euenTaFd H L HHer (pohalw CohToHsLD
1. sm@uUy uglenu OIHSMNES CFUIHe0
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15.

16.

17.

18.

2. OQFTLAHBH Hevhewdh FTGHLIQHE OBHTEIH 6l(HIH6E0

3. ysdw uulireenet SISPSLILGSHBHINSHET cP6vD LIUTT (LpewBenUl  LOTBN3IGEH60

4. BT QYSTIHISMET GILI[HEHESHE0

a. 1, 2 wpmpd 3 sFweneu il b. 2, 3 By 4 Fwemen &l
c. 1, 2 oBmib 4 sdluweneu il d.1, 2, 3 wBmb 4 syHweneu &
e. alewL OFflweaisdensv

Which among the following is a scheme of Govt. of India for ensuring the safety and dignity of
sanitation workers?
a. Smile b. Namaste c. Amber

d. West e. Answer not known

@bHw  ofer  eteumbd  SHULmSEHeT SHUUTe] g mfleomeniTaeaie LTHISTUMLUID  LOFHImLIULD
2 mg OQFweuzkl 61H?

a. eroemLoey b. pwet@s C. &IbuIT

d. Geuerdr e. alowL OFHfwelsvenev

During which Period Bronze Icons of Nataraja deity with four hands was casted?

a. Chera Period b. Chola Period c. Pandiyas Period

d. Shunga Period e. Answer not known

6b® SHTEVBL L SHFH60 BTG MBBEHL G Fnlgul BLITET6T OCloUewTHeF FGIMIBISET GUTTHSLILIL L 6017
a. Gagir &meod b. GampT smevld C. UMeRIQUIT, SHTeVLD

d. sms smeod e. alowL OFHfwaisdenev

Which of the followingystatements are true in respect of Dr. Muthulakshmi Reddy?

1. She was thefirst woman in India to get a degree in medicine.

2. She was the first woman Legislatorin British India.

3. She was the first female student to be admitted in-Maharaja’s college.

4. She was the first woman President of the legislative council.

a.1,2and 3 b.2,3 and 4 c.1,3and 4

d.1,2,3and 4 e. Answer not known

LUSLT. (pHSHICevadd Grligenuwil GUTBISSHeam] Lleal(h FnBniseled 6% 2 eamenoulTend)?
1. @bswraled WHSSHIUSHHD UL GUBB (PHEL GCILIGHT SLeuTT.

2. Uflyey @bLHwreler (LpHed FLL OB 2 MILILT6TTEUTT.

3. waMrey seogumfulled Gabha (P Hed GlLIewT LomewIRIUITEUTT.

4. FLL Fouullem (Lp&He0 GILITT HeMEVTTAIT.

a. 1, 2 wmmb 3 b. 2, 3 wBmD 4 c. 1, 3 wmpd 4
d. 1, 2, 3 wBpbd 4 e. alewL OFflwalsbensv

The Significance of Tamil Nadu Panchayat Raj (Amendment) Act 2016

a. Modifications in three-tier system

b. Constitution of District Planning Committees

c. Transferred specific functions and powers to Panchayats from the State Government
d. 50 percent reservation for women

e. Answer not known

SODHTH UehFTWHS T (FLLHMSSH WwWCFTHT) FULb 201661 FBULLbFD

B BHHE (WemBulled LOTBBLILIL L G

wrall' L FHLE GHUHHHMENT SIMDHHSDI

GBI L SIFSTIRISEm6T OTH60 DTFe(hheHl LiehFTUHDHIBEHEHES OTBBLILILL S
. 50 F50lds B @HdbSh LS EhdHE CETHHHILLL S

an o
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19.

20.

21.

22.

e. alewL Ggflualsvenso

Assertion [A]: Human Resources is necessary for the progress of any country.

Reason [R]: Investment in education and health of people can result in a high rate of
returns in the future for a country.

a. Both [A] and [R] are true and [R] explains [A]

b. Both [A] and [R] are true and [R] does not explain [A]

c. [A]is correct and [R] is false

d. [A]is false and [R] is true

e. Answer not known

ammm [Al: b @ BILIge GCbUT B@SGD W& eued SHISHWmeudoTs SHEHDBSHI.

amyewid [R]: &e0a] LBEID  WHHET HSHHN (PHeSH OFUIuHe  eleTeneuTs (BT 196H
THTHTVHHD DIFB SI6M6] LIV &BlenL dELb.

a. [A] vpupid [R] @yewiG sfilwmerg wppid [R], [Aleme elend@ABg.

b. [A] B [R] SrewiGd sfwreig [R], [Alemeu alendsalsoensv.

c. [A] gfwreng wpmd [R] seuprerg

d. [A] seupreng wppd [R] gflwregs

e. alemL Gxflwalsvenev

Which among the following institutions secured no.l ‘overall rank according to national
institutional ranking framework?

a. IIT, Madras b-1ISC, Bangalore c. AIIMS, Delhi

d. IIT, Bombay e. Answer not known

Uelleuhld  Himleueimiseied o1& - CHFWL - pimeien & sl Ll Uy @UBowTshs sHreuflenguied
(WML GHmSL1 GLBBSI?

a. lIT, Gzerenen b. IISC, QumisemT c. AIIMS, GLsbsS

d. IT, apibenui e. alowL OFflwalsbenev

Which of the following statements are true about Ramalinga Adigal?

i. He started the Samarasa Suddha Sanmarga Satya Sangam in 1865.

ii. He was against caste system

iii. =~ He established Satya Dharma Salai in 1867

a.1i istrue b.1and iii are true c.i,1i and iii are true
d.iand ii are true e. Answer not known

Lelteu(heussiouBmIenn @IToedmis SigHeT UBBIL 2 amwienownel Famml 61gl7

1. BIToImIE SlgHell FIOJF &S5 FAIOTTHS FHU FHSHMS 1865-60 SUIDLISSHTT
ii. BImoedBis DI9H6T MTHU (LPDBSHE 6THTTEIGUT

iii. Brmoedmis IgHeT 1867-60 FHU HITD FTeMLeNU HImIe6ITT

a.i W (B 2 _ewIeNLOWITRIS] b.i @b iii w0 Gb o_ewieniowiTeig
C.1, 1l oBmIb iii o ewrenLOWITEIS) d.i wBpid ii W G 2 ewenWITeIg
e. alewL OFflwaisvensv

Find incompatible pair in the following:

a. Pradhaba Mudhaliar Sarithiram - Vedanayagam Pillai
b. Sugunasundhari - Nadesa Sasthiri

c. Kamalambal Sarithiram - Rajam Ayyar

d. Padmavathi Sarithiram - Madhavaiya
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e. Answer not known

QUTHHST EeNemTENUIS SH6uoTL 5.
Wysmu (weHeolwint gflg gy
&G FHhSHif

SLoeVTIDLITET  FflghaTIb
ugomeugy FflgaTib

alenL  Gxfwailsvensv

Can o

GougmmpTwisld LieiTener
BpCLg gmervgifl
JTeD  SUIWIT

LOT &HEmEUUIT

23.  Choose the correct Kural for the explanation given below:
It is more pleasant to hold the dart that has missed an Elephant than that which has targeted

the hare in the forest.

a. Kaana Muyaleydha Ampinil Yaanai
Pizhaiththavel Endhal Inidu

b. Aakaaru Alavitti Thaayinung Ketillai
Pokaaru Akalaak Katai

c. Kettinum Untor Urudhi Kilagnarai
Neetti Alappadhor Kol

d. Ulluvathi Ellam Uyarvullal Matradhu
Thallinum Thallamai Neerthu

e. Answer not known

SPpEETanId CUTHESGTW HmbGSsenen GF e GCguls.
sl srflwumsefG  (wwerplL«Gounns Guplums (el  Gufiw asrflwrseiCGo  (weip  Camedal

SlmLeougl Fmpliy

a. &mer (PuiGlepuis SDLT6IED | UITEn6O
Hemip56ai60 gbsed Bails!

b. astm oemally stulaim Gsiysemew
CuUTasTEl SIH6E0TDH BNl

c. Galyamib o WICLAT & Mg Hlenercheny
Bl SemIuGHIT Gsmed

d. o &emeu GHeLEMD 2. UITAIETET6D BB
SHeltellanlh SHTEITMD HTH

e. alewL OFflwealedensv

24.  Who said these lines to whom?
“Maarivaram koorin mannuyir illai
Mannuyir ellam mannaal Vendhan”.

a. Manimegala deity to Udhayakumaran
c. Dheevathilagai to Manimegalai

e. Answer not known
wrfleupd gnplledt eTEIUIT E60em6V

b. Sudamadhi to Udhayakumaran
d. Manimegalai to Udhayakumaran

eTeIUiT 6T60L6VTLD LDeuoTemTT6T GoubdHenr — elel WITT? WT(HHESG 2 mIHHHl?

a. wenlGaeor CHUIAID 2 HUWIGLTDIHSES
C. HaudHlovend enBLHMm6VHE)
e. alewL OFflweaiedensv

25.  Urellam koodi olikka azhuthittu
perinai neekki pinamenru perittu”

Who defined death as a undefiable force?

7 | Page

b. sswd 2 suGLIBIGE
d. welBsmed 2 HUIGT@ISES
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26.

27.

28.

a. Appar b. Thirumoolar c. Sundarar
d. Manikkavasagar e. Answer not known

“omOFeLeUTD gnlg @6VHS IS (BLI

Guflewenr Ha&I Llewrd ereory CuIfiL B

GINE &6 2 _6WITHBHID HeneOWTenD 6THSHHIH FnpluieuT wmi?

a. oI b. FHmeweor C. SbHI
d. wrewidseurasit e. alewL OFflwalevenev

Nadaakondro! Kadaakondro!

avazhi nallai vazhiya nilanae!

Whose character plays an important role in the shaping of the world Emancipation in
Purananuru?

a. Women (Pendir) b. Men (Aadavar) c. King (Arasar)

d. Priest (Anthanar) e. Answer not known

“BTLTO®TGICBT STLTOsTeGnm

Sleuaufl Hevewey eumHlul HleoGenr”

GuopsTanid LUBBTEOMBOIL uTLed 2 evd Gubum'iyBeg wriledl  QupésdHmsd  DQULMLWTHS
FnBIF MBI 7

a. QuewgT b. &y euit C. ©a

d. sibsHemnt e. alowL OHfluaisdenso

Which Festival was celebrated throughout Tamilaham during the Sangam Age?

a. Adipporam b. Onam c. Navarathiri
d. Thiruvathirai e. Answer not known

FHIG HT0HH60 SIS, (PAPSISIEVID OBTEINLTLLILN | L16WT9nSH 61517
a. SYQUITID b. qewrd C. HaUTHHM

d. Hmeurdeny e. alewL OFflwaleveney

Match the following with List I with List II:

ListI List I

A. Thirumurukarrupadai 1. Mudattamakanniyar

B. Porunaratrupadai 2. Nakkirar

C. Sirupanatrupadai 3. Kapilar

D. Kurunji Pattu 4. Nallur Naththathanar
A B C D

a. 1 3 2 4

b. 1 2 4 3

c. 2 1 4 3

d. 3 2 1 4

e. Answer not known
UeteumeussieuBenmll Ll guisd [-CGmr® uligwed Il-ener’ QuThHSIsm.

U iguied I U iguieo II

A. HEHumBETHBOHIILmL 1. (IPLSBTIDESBEHTEmNLITT
B. GQummbrmBmitiien, 2. BB

C. dpumemmbmitient 3. &LleuiT

D. @flehd um 4. BEOVIT [HHSHDHIHETIT

A B C D
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29.

30.

31.

N ==
=N W

2
4
4
1

=~ W W &

. 3 2

a
b.
C.
d
e. alewL OQFflwaisvensv

Find the common ratio for the geometric sequence 0.15, 0.015, 0.0015,...

a. 0.1 b. 0.01 c. 0.001 d.1 e. Answer not known
0.15, 0.015, 0.0015,... eam Qumeg GsTLT auflogules QUTHIMSHID HTeHIH.
a.0.1 b. 0.01 c. 0.001 d.1 e. alewL OFflwalevenev
Solution
o 0.015
0.15
=0.1

Find the sum of 12+ 22 +... + 192

a. 2500 b. 2400 c. 2470 d. 2570 e. Answer not known
FmBHBHO HTewis: 12+ 22+, .. + 192
a. 2500 b. 2400 c. 2470 d. 2570 e. el Twailsdanso
Solution
5 2 5 19x(19+1)(2x19+1 1920 x 39
12492 4 yqgr . 99D ) _ — 2470
6 6
The compound interest on Rs. 16,000 for 9 months at 20% per annum compounded quarterly is
a. Rs. 2,599 b.Rs. 2,572 c.2,522
d. Rs. 2,502 e. Answer not known

20% ouemih el lguled STOTERIBSHESG QHIPMB a9 SWGHLLILGD (wenpuied b 16,000 -&@ 9
LOTSHRIBEHDHE HMLSGWD Sl B UL IQUITETSH

a. em. 2,599 b.ew. 2,572 c. m.2, 522
d. . 2,502 e. alewL OFfwalevenev
Solution
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32.

33.

4n
r
A t(A)=P 1+ —
mount (A) \( 100)

Since quarterly we have to divide 'r" by 4

20
r=— =5%
4

5 %\4
A=1600( 1+
( 100)

105\ =4
100)

o
105\ 3
= 16000
( 100 )

21\?
= 16000 x (_)
20
21 21

21
=16000 x — x — x —
20 20 20

= 16000(

=18522

~ Interest A— P = 18522 - 16000 = 2522

In what time period will Rs. 10,000 earn an interest of Rs. 2,000 at 10% per annum?

a. 2 years b. 5 years c.'6.years

d. 3 years e. Answer not known

SIF60 h. 10,000  ai&), SuewibbG 10% au'lp ainpsHed, 1HHMT UeWIBH6M60 h. 2,000 6l Igenulr]
OLBDIS S(HLD?

a. 2 SLeBabe6i b. 5 oG C. 6 SLEWIHH6I

d. 3 syemiBsein e. alewL OFflwalsvensv

Solution

N 2000x100
10000x10
n=2years

If the HCF of x# + 3x3 +5x2 + 26x + 56 and x* + 2x3 - 4x2 - x + 28 is x2+ 5x + 7. Then their LCM is
a. (X2 +2x+8)(xt+2x3-4x2 -x+28)  b. (x2+ 2x-8)(x*+ 2x3 - 4x2 - x + 28)

c. (2 -2x+ 8)(x* + 2x3 - 4x2 - x + 28) d. (x2 - 2x - 8)(x* + 2x3 - 4x2 - x + 28)

e. Answer not known

x* + 3x3 +5x2 + 26x + 56 wimpud x* + 2x3 - 4x2 - x + 28 e UeOVIWIILE BHTeMeusaiet 15.GLMT.6u. X2
+5x +7 erefled SleuBpiledr 15.GILIM.Lo-63T O] G LD.

a. (X2 +2x+8)(xt+2x3-4x2 -x+28)  b. (x2+ 2x - 8)(x* + 2x3 - 4x2 - x + 28)

C. (x2 - 2x + 8)(x# + 2x3 - 4x2 - x + 28) d. (x2 - 2x - 8)(x* + 2x3 - 4x2 - x + 28)

e. alewL OFflweaiedensv
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Solution

Let flx) = o+ 32 + 5% + 26x + 56 and glx)= Aol -4 —x 428
Given that GCD = x” 4 3x + 7. Also, we have GCD » LCM = flx) x g(x).
fMAx)=eglx)

Thus, LCM = GCD
Now, GCD divides both f{x) and g(x).
Let us divide f{x) by the GCD.
1 -2 8
15 7] 1 3 5 26 56
1 5 7
-2 =2 26
-2 —10 —14
8 40 56
8 40 56
0

When f(x) is divided by GCD, we get the quotient as X’ — 2x + 8.
Now, (1) — LCM =(x"—2x+8)xg(x)
Thus, LCM = (x” — 2x + 8)(x" + 2" — 4x” — x + 28).

34.  Which one of the following is.agpair of co-primes?

a. (16, 62) b. (18,25) c. (21, 35)
d. (23, 92) e. Answer not known
LevTeu(hHeueasTeuBMIeT 61hd &h BFMY eTewibell SFTTLIST 616801H6N !

a. (16, 62) b. (18,25) c. (21, 35)
d. (23, 92) e. alewL O flwalebensw

Solution

18 and 25 have 1 as their common factor.
Hence, pair of co-primes numbers is (18,25)

35.  Assertion [A]: The New Educational Policy (NEP) envisages a complete overhaul
of teaching - Learning process from the traditional teacher -

centered to learner centric approach.

Reason [R]: NEP ensures that holistic development of students by accentuating

their creative potential.

a. [A]is true but [R] is false

b. [A]is false, [R] is true

c. Both [A] and [R] are true; and [R] is the correct explanation of [A]

d. Both [A] and [R] are true but [R] is not the correct explanation of [A]

e. Answer not known

a&BE [A]l:  sBUsSH0 - sBmed  GFweowempuiet  (pepenwwiter  BIFTLINBSTS, LB
sevaldboamerens, urpbuflu  spdflwit  ewwwiores AmbH  SBMeL,  dmuUeufles
MU SIS (LPEDBULTS 2 (HeUTHIBIBS.

smyewid [R]: ydw &H60a] CameTenauien LOIT6U0T6U T B 61Tl 68T DS BLLTEUSBen 6ot 2 _WirsHa)

SlaUTHe 6T (PIpewowner alenTFFlenw o mig GFuigHev.
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[A] ereiugr oM syemmed [R] eteiiug seumi

[A] eaug seuml, spemed [R] eteiug &M

[A] wBpid [R] @men Byewio &M wipwd [R] eeug [A] ulear gflwmer efendasib.
[A] wBpid [R] @men Byewiio &l syemed [R] eadiugy [A] ulest aflwimer elendaineoen
allenL  OFMwealedenev

o oo o

36. Indian economy is marked by the existence of

1. Low per capita income

ii. High proportion of the working population is engaged in industries

iii. ~ Improving rate of capital formation

iv.  Problems in the employment

a.iand ii are correct b. i and iii are correct c. ii and iii are correct
c. ii and iv are correct e. Answer not known

AHHWL QUTHTHTID EH6 cpevld GMISSLILBGSBSI

1. GMBHS H6VT 6U(HLOTEUILD

i. 2 _MPHGD WESHT HD alPSHHHe0 CFHTHBFTMeVH6TE FBHUL (H6iTermento

iii. GUBSHILILL L cLpe HeT 2 (HauTdhd aladHld

iv. BGeuemev auTUILILIed FdbBHe0SH6I

a. I wmpd ii sflwmrereneu b.i @b iii flwretenal | c. il @b iii Fflwrerene
d.ii wBmib iv gflwrertene e. alwL OFHflweaisdensv

37.  Jawaharlal Nehru wrote in 1961 ‘India as a secular state honours all faiths equally and gives
them equal opportunities’. S: Radhakrishnan as President of India too expressed “When India is
said to be secular state, it does not mean that we as a people reject the reality of an unseen spirit
or the relevance of religions to life orthat we exalt irreligion. It does not mean that secularism
itself becomes a positive religion or that the state assumes divine prerogatives’.

Which one of the following is best implied in the passage?

a. Indian secularism is a religious, irreligious or antireligious

b. Indian secularism is perfectly compatible with religiosity

c. Indian secularism does not recognise the importance of religion in the public space

d. Indian secularism is not required to give each religion equal consideration

e. Answer not known

AHAHWT @ WHFFTTUBB BTH, DDODHSH OHHISEMETUID FIOWWTEH HSIHBEH LBDBILD  DIUTHEHHS
0 UTUILILSMET  UPRIGHBH  6tenr 196160 Gh(H  erpdHleummT. Siend GhLHwmaler eemmaHLS LTS
BmHD TTHTH(HOeWIN “IDHEHeMTHW BT Hewiamsbd 05 wnrsd oelulear WHTTEHHMSCWT DieL6VSH
AUMDSMEHHE LHMmG6MNer QUTHHBHHMSOWT HIITsNSHEBID, SlevevdH WHHMmSH 2 WITSHHISHECBILD,
Im OITHH6060 WHFFTTUMLCW @hH CHTLemBUWITET LHOTS WTBIBBSH DIGVVSH DT OFHUIais
o fewsamen gBBIGECHTHTHBH THIBI DTHHD Eevenev” eIl OleuerllLI(B &5 e

Uelteuheussieupiled e1ghl Fpliums udhduied @GuIULLiu’ (heteng)?

BbFHw HFFTTIGTMD 610TLH @(H OFH OHFFTIUBB DIGLVHI DSHSHHMBE THTTISHI

BbFHw HFFTTIGTMD DHAUTHHSHIL ST (LPMOWITS HBHILICUTHBSH

AhHw waFFTTIeemn Curgl Geueflulled WHHH (PoHHUWSHHINHMSH DIMISEHTHHT606m60

BhFH U HFFTTLIETEND TGS 6ICUT(H DHHMBUID FOWTHS H(HS Ceuewtgul Sieudluislevenev

allewL  Oxfwealedensv

o oo o

38.  Which of the following statement(s) correct about Madras Native Association?
i The first political organization started in India
ii. The Madras Native Association began to function on 1852

12 | Page Ph: 044-24339436, 42867555, 9840226187




39.

40.

41.

42.

iii. =~ The founder of the Madras Native Association was G. Lakshminarasu Chetty

iv. The leader of the Madras Native Association was Anandha Charlu
a. iii only b.iand ii only c. ii and iii only
d. ii and iv only e. Answer not known

BB UTHBHWmB6eNsd Ol grerd Ghligel oCFTdBweagst umPw gFilwmer TS WIBIBMETSH
BaxHOSHBHBLD.

1. @hawreled IbISSLIULL (WHeoTeugh DTFuied FTihs DlenloliL]

l. @z 185210 Sewih (WHO OFWeOLIL OHTL RIS WG

iii. G gmerd CrLligel SHICFTACWaelar BmieueT 29.6000BIsH Gagl lg

iv. QL gmerd CrLigel HIBFTFCWaeNe HemevauT DIDMHHTEF FTTe)

a. (iii) i @w b. (i) wBpbd (ii) L GD c. (ii) wmmid (iii) w G
d. (ii) wBpd (iv) wiGw e. alenL Ggflwealsvenso

The tropical cyclone winds blow into the Northern Hemisphere in direction.

a. Clockwise b. Straight c. Anticlockwise

d. Circular e. Answer not known

ALSG DmIHCHTendHaled gmUbBLD eueflioenied Cevbd@ SBEFS 6bhd Hmauled STHBHMI FHLOID
a. HYHMPEF GBI b. Gwyms C. IFHTHYSITE &BHI

d. euLioms e. alowL OFHNweledensy

In which annual sessions of the Indian National Congress made the historic ‘Purna Swaraj’
declaration?

a. 1907 Surat b. 1920 Nagpur c. 1929 Lahore

d. 1940 Karachi e. Answer not known

BhHw Carlw SIRSTaD 6bhsd Shewih SIoTaled auyeorBn FBILOSS ‘LiTewr &WIT’ Dipslbemnsamul
Oeueluil L gl

a. 1907 &I b. 1920 BT C. 1929 cUTEmIT

d. 1940 syr&d e. el OFflweaisdensw

Who was selected-as the President of Council of Action, which was constituted by Tamil Nadu
Congress Committee to execute the Civil Disobedience in 19307
a. C. Rajagopalachari b. S. Sathyamurthi c. T.S.S. Rajan

d. T. Prakasam e. Answer not known

19308110 Suewih  SWODHTH STHRISFed  SOLIQUWITEL FULIBIIL] BusbsdHHemen [bLHSH CFUBGLLS
HmeoalITadh BHThOSHBHSLILIL L 6uT wmT?

a. C. @yregB@asmumeorgamiluimit b.S. g&dwepishs c. T.S.S. ®ymeest

d. T. Yysrend e. alowL O MNuealsdamen

Assignment of ecological or biological significance of a contaminant’s effect based primarily on
statements of statistical significance but contrary to biological probability

a. Malthusian theory b. Median effective concentration

c. Maulstick incongruity d. Maximum likelihood estimation

e. Answer not known

o2 ulflwed MPabHEHadHE IBTH, (WPHETmWWTE Lereflaleuy (posHWSHUSHET DN dendHHmen
SlglIuenL Wmed — Gemewi. @b T&UTL g  aflewenalledl  SFBMIFGIL0  Slevevgdl 2 ulfluied
WPEEWSHASDS GBI ESH60

a. meogrdwer Gsml um®m b. ggraf vweeTen GFpey

C. LDT6VEVIS  OUIM(HGHSHLO6ITENLD d. oFsul s grsdHusamm ALTH
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43.

44.

45.

46.

e. alemL O flwailsvenso

Which of the following statements is true about human races?

i. The races is a group of people with more or less permanent distinguishing characteristics

ii. Human races are classified in 7 blood groups

ii. The races are identified and classified based on skin colour, stature, shape of head, face,
nose, eye, type of hair and blood group

a.iand iii only b.iand ii only c.ionly

d. ii and iii only e. answer not known

Leteu(hld FnBmIbeiled eTemel elsh GSemmibenennl LB Fhwmer Famnisei?

1. BOTRIHET TS DIHBTHEUT  DleL6VSHI  GmBaUTEGUT MHIIHPHT  HeoTSHHIILDTET  LIGHTLIHM6N D
O&BTeWIL Q@ (GHLDAUTGLD.

ii. wellsh Bemhiser 7 QrsHs eumssents LlflbsliL Beimerer

1ii. Gxpmelelr MHIBLD, o Wb, Heweouller eugeuD, (PSLD, (D@, SH6wl, (P9 6UMS WLHBBID BIHP
UMD S P weumlest SliglienL_uiled ©\e0TmRIB6IT SIGMLWIT6ITLD STewlIl Il (B
QU SLILBSHSLILIBH S GTB60T.

a.i oMb iii L G b.i wBpb ii w G0 c.i 1 B

d.ii wBmw iii w’ @D e. alewL Oz fuialsdensv

Arrange in chronological order

1. Nehru Report 2. Poona Pact

3. Simon Commission 4. Cripps Mission

a.1,2,3,4 b.3,2,4,1 c.3,124
d.2,1,4,3 e.'Answer not known

smevalfleng LB HSIS

1. Gpm oMbame 2. L& @ULHSLD

3. MFWET (D 4. &ifited G

a.1,2,3,4 b.3,2,4,1 c.3,1,2,4
d.2,1,4,3 e. alowL Gz Mwealevemev

Which one of the following is not correctly matched?

a. Arif Qandhari - Tariki-i-Akbari

b. Nizamuddhin Ahmad - Tabaqgat-i-Akhari
c. Abdul Qadir Badaoni - Muntakhab-ut-Tawarikh
d. Muhammad Khan - Khulasat Tawarikh
e. Answer not known

SLDe)(HEUGTOUBBIET 6Temed HAUBTH EenenTdhHLILIL (HeiTermen?
a. il GHHT - Fflé-B-oisL

b. Pamwdear SiEwg - BHUBH-B-DiEUIM

C. SUFHID HTHT LIGSHeme - (WPheHBL-2_L-Heumfld
d. sz STes - GTFSH Heuths

e.

allenwL  OFfwealedensv

The Stupa at Amaravati is a best example of what?
a. Nagara style of architecture ~ b. Vesara style of architecture  c. Mughal Architecture

d. Dravidian architecture e. Answer not known
SlogTeuguievieien eOHMI ISBSHF FBbHH TBHHIHHT(H?
a. BEJLUTENS HLIgL &HeN6v b. Gaugyriumenie s 1L SHamev C. (IPHEVTWISH L IQL SHIHEN6V
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47.

48.

49.

d. Syrel s &L gL HoHamen e. alemL Ggflwalsvenso

Choose the right matches among the type

1. Vedantins - Brahma

2. Naiyayikas - Arhat

3. Jaina - Creater

4. Mimansaks - Karma

a.1 and 4 are correct b.1 and 2 are correct c. 2 and 3 are correct
d. 3 and 4 are correct e. answer not known

Carhedsiul LareuBplen Fflwmer QUThHShISmens CaHiThH0HHoHHa|LD

1. Geusnbglsein - Uybiom

2. enpwimuilse - OlTams

3. emEQeoIT - UemL_LILITeTTT

4. ODOTDF ST - T

a. 1 wpp 4 Filwrerene b. 1 wBpd 2 gfwreene c. 2 wppid 3 gflwmerenel
d. 3 wBpb 4 FhwTeee e. alew OzMwealsbensv

Consider the following statement and find the incorrect answer:

1. The constitution imposes limits to President to givegassent to the bill passed by the state
legislature

2. The President may refer a reseryved bill to the Supreme Court, under Article 143 for
discussion.

3. The power of the Presidént assent to the bill passed by the State Legislature and Parliament
are the same

4. The President cannot keep a bill of the Parliament pending at his hands for an indefinite
period of time

a. 1 and 4 only incorrect b. 1-and 3 only incorrect c. 2 and 3 only incorrect

d. 3 and 4 only incorrect e. Answer not known

BDHHENIL FnBBISHEN6NES HHSAD SHEUBTET FnBHIHEN6NTDH H6wTL U6

1. slLwampd QuBpsiu  EFTHTaEGSL  GYUWTS  HMeValT  HalDIMLU  BenFmeld S
SITFWevemIDlILF: FULLD QT 6T606060MWI  6U6SIU|BISHS U6TeNS)

2. sl e muiy 1431 S GLWIs  HmevauT HBISH  mausHhEGL  wFTHT  ums
o FFHHSBHHL LD LG0T dBH60MD

3. UTPTEBOSIBLD OBWID FUL  wepmiseT Subpw  108FTHTHH6T g GWwrds HenevedT Gy
wr@flwmer HIHBMTHmSH CBTewIQ(HEH BT

4. ungmepwasl GuBplw wWCFTEHT g GHLRWISH SHMEVAUT, HTeL eumTWeBUlEN @LILIEHED HITLO6D
DUSH (hSS (LPIQUITSI

a. 1 ppib 4 W BL SHeuwl b. 1 wBpbd 3 W BL SHeuyl C. 2 Bpid 3 WG Heuyl

d. 3 wBpb 4 WLHL Heusl e. alewL Oafuialsdensv

Which of the following statement is/are correct?

1. The universal declaration of human rights was adopted on 1948

2. Article 10 says that all human beings are born free

3. UDHR has altogether 32 articles.

4. UDHR was adopted by United Nations General Assembly
a.1,2,3and 4 b.1,2and 3 c.1and 4
d.1,2and 4 e. answer not known

&6 CBTBSHLILI[Beiten 61 / etemeu gfluimerg)?

1. uetem’ @ wellg o MenioseT LfsLauGHSIULL LG 1948
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50.

51.

2. alg 1061 U &IHTHET DIEHTOU(HD SHSHHATOTSHL LIBHSHeTH6N

3. ueteml (p weldh o Menosdel LIFsLeld CTHHD 32 aldHsmens GBIl g

4. @& BIHFelar CuTHFFmU UMl B wellsh o fenwser LITsLargHms eimlshoHTenil &
a. 1, 2, 3 wBmib 4 b. 1, 2 @@ 3 c. 1 1Bmi 4

d. 1, 2 By 4 e. alewL OFfwalevenev

Which of the following is incorrectly matched?

1. Article 361 - The President enjoys protection from criminal proceedings against him in
court of law

2. Article 352 - National emergency

3. Article 356 - President Rule in State

4. Article 360 - Finance commission

a.1only b. 3 only c.1,2 and 3 only

d. 4 only e. Answer not known

SLDeV(HeUGTUBBIET 61&H HeUBTa QUMHSHSLILIL (heteng?

1. 9763 361 - BIHDOSBSHH0 GQUITHSH HMEVAUHBE 6CTHIT GBBAIUIed [HLaUgSHemBHH6N60
BmHbSH UTSHISTUmLLT CUISIBTT

2. agr&HEH 352 - Bxpdw OBMHBHYHTEL LNJHL 6D

3. agrsHEH 356 - OTHEVSHFH60 GWITHSHHMevaUT S &

4. a9753% 360 - B SLememTLD

a. 1 wl @B b. 3 w @w c. 1, 2 wBwib 3 wl B

d. 4 w’ @b e. alowL O&Mwaledenso

Match the following constitutional articles related to Chief Minister of a State:

Subject Matter Article No.

A. Council of Ministers to.aid and advice the Governor 1.164

B. Other provisions asto Ministers 2.166

C. Conduct of business of the Government of a state 3.167

D. Duties of Chief Minister with ' Respect to furnishing

of information to Governor etc. 4.163
A B C D

a 1 3 2 4

b. 2 4 1 3

C. 3 2 1 4

d 4 1 2 3

e Answer not known

LOTHIEY  (LPHEVHDFFT OHTLTUTE SDEHBTamID DIFFMIOLIL] aIFHEHmenll CUT([HHHIS.
QuIT(HeIT SIyFmLIL allg 66T

A. SenbBSG 2 el WwBEIb

ABeuTFmET FmDID DIMDEFSFT GH(LD 1. 164

B. siwwgsiser G riiumer LB oIbFmIs6NT 2. 166

C. wmplev SIFsTRISHH T DG [BL HSHIH60 3.167

D. wmhlev SuLenbhd@GH HBaued OHflalddhed

o el L (pgHevenloFailedr Liewisel 4. 163

A B C D

a. 1 3 2 4

b. 2 4 1 3

C. 3 2 1 4

d. 4 1 2 3
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52.

53.

54.

55.

e. allewL  Oxfwealedensv

Consider the statement of the Judicial power of the Governors of the States.
Choose the correct answer from the option given below:

Assertion (A): The power of granting pardon under article 161 is very wide and do not
contain any limitation.
Reason (R): Judicial review is possible, when he/she on the ground of non -

application of mind and non - consideration of relevant material and
suffers from arbitrariness.
(A) is true (R) is false
(R) is true (A) is false
Both (A) and (R) are true: but (R)is not correct explanation of (A)
Both (A) and (R) are true: (R)is the correct explanation of (A)
. Answer not known
LTHlev SLEpETeT “BH0EB HHSMD” GBSHBHIE BHSHWIL FmBOBSH H(HAHIS.
alpliiug, Cafaled @mbal Fllwmear alemLmuld CaThHoHHSHHMLD.
HlewflLy(A): el DM@ HSTID, 161 eugh FlL o mulaind Weawb ealfleureaigs. Sig
6lhFH 616VMEVEMIILILD O\BTERIY(HEHBHENEOENEV.
smewid (R): oeuGen/  210uBym  opfieney _Heig - Qaaushd) eumuing Gumwasid, o fw  pbusome
Speuemisment UflFelsangd GUIISID DISSHIOBILD o iTaldE S UL ghHEGWD GuTg
BAHLILGITTUIEY 6TETUHI FTHSHIUILOTEOISHTSLD.
(A) &l R) geouml
R) &fl (A) goup
(A) ab (R)ayid a1fl opeimed (R)etamigl (A) alsb@F sFhlwimenn ellenbelpmdT s
(A) wppd (R), @yewipw gfl. (R) eemug (A) @& Filwimer olendaion@ib.
allenL  OFfwieedenev

o an o

o an o

Quantum nature of light is not supported by the phenomenon of

a. Compton effect b. Photoelectric effect

c. Emission and Absorption Spectrum d. Interference of light waves
e. Answer not known

@efluller GeuTewiL b C&TeTensd SDHHTEILIIBBICT THHMBW alleneremel alendbasrg?
a. M6l aleneray b. gefifler alemerey

C. 2 10pe| HIBLOTmeL LOBEILD 2 L &H6UT HIBLOTEN6D

d. gofl omevselear GLIES G alamerna]

e. alemL O flwalsvenso

LPG is a mixture of

a. Ce Hio + CHe b.C4H 10+C 3H 8 c. CoH4+CoH»
d. CoHs + CHy e. Answer not known
LPG (gemiwied emfleumuy) eresLig BHELEMEULITEHLD.
a. Ce Hip + C6Hs b. C4H 10+C3H s c. CoH4+CoH 2
d. CHs + CHy e. el GaMuialedemev
Match the List I with List II
List I List IT

(Hydrated Salt) (Uses)

a. FeSOs. 7H 20 1. Textile Industry
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b. Na2CO3.10 H0 2. Laboratory Reagent
c. CuSO4.5H20 3. Making of Mohr’s Salt
d. ZnSO4.7H 20 4. Fungicide
e. BaCl>.2H 0O 5. Manufacture of Glass
A B C D E
a 5 3 4 1 2
b. 4 5 3 1 2
c. 3 5 4 1 2
d 5 3 1 3 2
e Answer not known
utwed I eow ulpuwed II o et QUTHSSHIS.
U lguied I U lguied II
(mCypslw o _1y) (LWIGHTER6IT)
a. FeSOs. 7H 20 1. Meefd Gamped
b. NaCOs3.10H 0 2. VNIV ¥: 3 31 fo|
c. CuSO4.5H 0 3. Gomierd o _liyg Hwimflgseo
d. ZnSO4.7H 0 4. L Ghengd QBmened
e. BaCl>.2H O 5. HEWTEITY  HUWIMT & gH60
A B C D E
a. 5 3 4 1 2
b. 4 5 3 1 2
C. 3 5 4 1 2
d. 5 3 1 3 2
e. allenL  OFfwalsdenev

56.  Match the organism correctly with their corresponding order:

a. Apis 1..Haplotaxid
b. Leech 2. Cyclophyllidea
c. Earthworm 3. Hirudinea
d. Taenia 4. Hymenoptera
A B C D
a 1 2 3 4
b. 2 4 3 1
C. 3 2 4 1
d 4 3 1 2
e Answer not known
2 ulflendhens SeuBpler OHTLTmLW euflengujer gilwnsll GUTHEHSHeLD
a. Cxpef 1. amriGsomLm&hengiguim
b. oL 2. &G, .LNe0edlguim
C. LD6WIL|(LD 3. afi(pigefiwm
d. mrmye 4. e»aoGerTLIGL [T
A B C D
a 1 2 3 4
b 2 4 3 1
C 3 2 4 1
d 4 3 1 2
e aleml G flwalsvenso
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57.

58.

59.

60.

Operation London Bridge is the

a. Funeral Plan for Queen Elizabeth II

b. Process of selecting the Prime Minister of UK

c. Joint Military exercises of NATO countries

d. Evacuations due to Russia - Ukraine War

e. Answer not known

6VENITL 6T LITGVLLD [BL6UIQE60H GT6HILIGI

a. aTyment @FenwLmb elFbusHHer BB omiTalen BHaLDesH6i
b. UK wgsw whdieaw ChbOsBLILISBSTR QFWed(Lpenm
c. NATO prpasefilear gl @pmamien LulBd

d. gesw — o deyer Gurfler Guragl GeuefGuBBed

e. alewL Gaflwealsvens.

Which of the following is / are true about Doppler effect?
1. Doppler effect in light in symmetric

2. Doppler effect in sound is symmetric

3. Doppler effect in light is asymmetric

4. Doppler effect in sound is asymmetric

a.1and 2 are correct b. 1 and 4 are correct

c. 3 and 4 are correct d. 2/and 3 are correct

e. Answer not known

LmlenT elenenenalll QUIHHES!  SLDHSTID SnBBIHEHET 6lenel FTlWTeTenel?
@efluled LrlienT alemene) FLO&FIT6IS)

@6UlWIGL L TLIGNIT \ &]6n6N6)]  FLOFEFTeId)

@eflulled LTlienir @lenene| FLoFEF T

@60uled LmleniT lenone) FLOFFTMMBSI

1 oBmib 2 sifluirerensy b. 1 wBpb 4 sfwrereme

3 wBmib 4 FHwimerene d. 2 wBpp 3 Flwrereme

allenL  OFflwealedensv

ICHECIE A

The government has initiated the following key aspects for facilitating the MSME sector:

i. Access to credit ii. Access to market

iii. Technology upgradation iv. Social security for MSME sector employers

Select the correct option.

a.iand ii only b. i, ii and iii only c.ii and iv only

d. i,ii, iii and iv e. Answer not known

MSME &1 gievmenwl etefamoh@GHasnb@ Fgmmhisd Leeumnd (phdll SIDFRIGEmeNd OHTL B |6TeTg).
1. BLET S|emIH6D . FhHmd DIEWIH60

. Oxmped mILU GCbUBHSHSHIHE0

iv. MSME @61 gienm oompuimsendanet Fepsll LTSS

GBuibsmen LwebBHS Fllwmer alenLulenerd HTems.

a.i wmpd ii 1w’ B b.i,ii wmmpnb ({ii) w1 Gib C. il oBmib iv L B
d. i, ii, iii wByD iv e. alL s Muwealsvamev.

Match the following and select the correct answer.

A. Nayak Committee 1. Unorganised sector
B. Tarapore Committee 2. Centre state relations
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61.

62.

C. Rajamannar Committee 3. Availability of Credit to SSI
D. Arjun Sen Gupta Committee 4. Capital account Convertibility
A B C D

a. 4 3 2 1
b. 1 2 4 3
C. 3 4 2 1
d. 3 2 1 4
e. Answer not known

SpeumUeTauBems CumhHE Fflwmer alemLmwsd BpiTey GFUIs.

A. pTws G 1. Slewliy T SHlenm
B. smymyit @ 2. HHW — WIBev OHTLITL
C. @ITLaIeTT @1 3. dlw olemey CHTHBFTENOHEHHES SL 6T SHenLLILIGI
D. ojtegreir Gger GUST G 4. clpeuBHenT HEWISEG LIBBIS Hmest
A B C D
a 4 3 2 1
b. 1 2 4 3
C. 3 4 2 1
d 3 2 1 4
e allenL g flwiailevensv.

Which one of the statements is correct for Li-ion batteries?

While the battery is dischafging, the anode releases lithiumion to the cathode

While the battery isidischarging, the cathode releases lithium ion to the anode.

While the battery is charging, the anode releases lithium ion to the cathode

While the battery is charging the cathode doesn’t releases lithium ion to the anode

Answer not known

i — owel CuiLfasEndd/ 106666 EEnHE LlaealmD dnbniseied 6 ahuimens?

a. GuiLd WeeiBssd el wbCurgd Li ouweiser oGameelmba BCsH8HTHEHG
GeueMuiL LGS BSI.

b. GuiiLfl Weaipssd Sem ubGurg Li- oueiser CssiCs5meelmbal oBamoBE
GeueMuiLLILGEBSI.

c. Gurrm WSIGmBpd  SewLwburgl,  Li- suweilset  o9Gamgelmha  CaxH8HTBEHG
Geueui_ LGS MBS

d. GuiLf WesiBamBmid e updBurgl, Li- ouweiser CssH8mmeoed(hhd BamigmE
GeueMuiL LB eugle0eme6v.

e. alewL Gzfluialsbensv.

Ce a0 TR

The Beneficiaries of Moovalur Ramamirtham scheme are

a. All primary school students

b. Girls Students who are studying from 1st to 5th Std.

c. Girls students who are studying from 6th to 12th in government schools

d. Girls students of first generation in schools alone

e. Answer not known

CLOQUGTT @TMOTO(HFHLD SHIDenWITT Heval 2 HalHoHTens LB SHESHSHUWITET LILIGTT6MH6IT
a. SIMATHH SLIDULILIGTET  LOTewIeTH6IT

b. 1 wmed 5 b au@lieueny LUTGID LDTERTGNULIT

C. 6 1pxpev 12 b U@Ly euemy HOd &l ueTefsefled LUl @embul L UGl euedy Lulsvid
LomewoTeIILLIT
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d. uetefdaeval LUIID (LPHEL HENEV(LPENH  LOTEIANUWIT oL (BLD
e. alemL Oz flwailsvensv.

63. Which among the following statements is / are best explaining the objective of “Ennum
Ezhuthum Scheme?”
L The scheme is launched to help the children make up the loss of learning due to corono
pandemic.
II. The scheme is launched with the purpose of education for all.
III. ~ The scheme is launched with noble objective of fastening equality in society.

IV.  The scheme is launched with the aim that all children below 8 years of age should be
able to read. Write and know numerals by 2025.

a.lonly b. I, II and III only c. Il and IV only

d.Iand IV only e. Answer not known

“eTewigmIlD 61(RSHHID” H L SHHe Chrdsmisenst Llseumd FmBpiseied g Fpliuns alend@ang?

L. CarCymemm  QUEHBOSTBHI STVSHFH60  gmuLL SBBeL GepUTBHemen  FlOFULIW
GUHMSBEHHE 2 HAD UEHINID BHFHI LD OHTLRISLILILL I
II. SImBUHESWD Heval el CHTHSSHHIL 0T BHHIL LD OCHTLMRISLILL L Sl

I1I. FISHII FpBHMSH eeNTaHGD o wilw Chréasled @SS LD CHTLmSIULL S

IV. 2025 b SYEIBGHT 8  UUSISGLLUL L. SHMATHB GLBMDHBEHLD 61(10FH LIghs LOBMILD
cTenIBemeT  DIBIHhHEUTHeNTS LOTBHIUS! 6B CHTseHIHILET DB LD CHTLRISLILLL GI.

a.l w @G
d. T wppi IV o Gid

64. Match the following:
Health Programmes

A. Tamil Nadu Health 'System
Reform Program

B. Tamil Nadu Health System
Project

C. Chief Minister’s
Insurance Scheme

D. Tamil Nadu Urban Health

Care Project.

A B C D
a 4 3 1 2
b 2 4 1 3
C. 4 1 2 3
d. 3 2 4 1
e Answer not known
SIPHBTEILIBENBL  CUT([HEHHISH:

GHTHMH B L BIS6IT
A. ODBTG FHTHTT SIenLOLIL]
ISl Lemolish L LD
B. s0mprG SSTHT) SienioliLs
)

C. wapevemwgaier alfleurer s’ B

S LD

D. s0pp1h By Ssrsirs S
Ph: 044-24339436, 42867555, 9840226187
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b. LI wsmpbp I oL G c. I wompb IV ol G

e. alewL OFHfluiaievensv

Aims/Goals
1. To provide modern and sophisticated health care
facility for poor
2. Toimprove the health outcomes of urban poor

3. To improve the health of lower Socio - economic groups
Comprehensive Health
4. To achieve SDG -3

GBIBCHTeiTH6I

1. Bl LOBWID o WITHT SFHTHT] 6UFHHEn6l
JMPHEHHEF Dlellds

2. BB gmpdeier CITSHULSHmS 2 WTH

3. gaps — QUIHENTHTT DIBSHBe0 HC 2 siTeneuTdHeren
ABITEDWGHMS 2 WiTHS
4. SDG 3 — 3 oLl




65.

66.

67.

A B C D
a. 4 3 1 2
b. 2 4 1 3
C. 4 1 2 3
d. 3 2 4 1
e. allenL  Ggfwalsdenev
Assertion (A): Indian Government has taken up economic programmes for benefit of SCs
and STs.
Reason (R) : Provided small loans for the poorer section to help them to earn money

through some secondary sources such as toy - making, basket making,
agarbatti and beedi - rolling, tailoring, shoe - making etc.

a. A is True but R is false

b. Both A and R are true, and R is the correct explanation of A

c. Ais false R is true

d. Both A and R are true, but R is not the correct explanation of A

e. Answer not known

Gapm A:  @hFHu  SPETERBID  QUIGETHTID  &1Mhs ol S LEBIGmeNs STDSSILL  BHID

LOEMEVAITLD @0 LD&&H6T Lie@UMID auensuisd GEFwsoLIBSHSHIBIBSI.

smyenid R:  Qumbeny  QFUISHE0, FmeDl  (PDLH6V,  DISTUSHSH LBEID | g  &BBISHL, Hlewid

a.
b.
C.
d.

MmBWeVHLD, HTevewil  SHWflGHHe0 Cumaip iyl  OsTH0BEHHHS ST  CaTELILIGET
CLPGULD J6MLD LDGHBEIT SIenall Q(HLOTEND: GLUB oIFs 8- FHal OFUISBIHI.
Fpm A gfl suemedadIgenid R saim)
FBm A wpgd siyenid R @yewiid &7 amyenid R gapp A damer Filwmer alendbaomn@Lb.
FBm A saiml &ryeoibeR il
FgBm A BB smeid R @pemibn sfl smpenid R ga@mp wbsrer giwmer alendasoeoeo.

e. allenL G flweailedensv.

Choose the correct matches

1.Art 371 - Provision with respect to the states of Maharashtra and Gujarat

2. Art371 A - Provision with respect to the state of Nagaland

3.Art371 D - Provision with respect to the state of Andhra Pradesh

4 Art371 H - Provision with respect to the state of Tamil Nadu

a. 2 and 4 are correct b. 2,3 and 4 are correct c. 1 and 4 are correct
d. 1,2 and 3 are correct e. Answer not known

FULID QamLiurer gflwmer QuUThSHSHIBmen BiTey GFuiwieLD.

1. alg 371 - LOABTITARQTLD LOBBID GHPITTSH LOMTHI6ORIBET OHTLTLITEIH]

2. algd 371 A - BTSHTEVHSI LOTHIEVD CGTLTUTETSH

3. elg 371 D - abHTITCHF eVl QHTLTUTEISHI

4. olg 371 H - SODBTH LOTHeVD CHTLTLTEIS

a. 2 1oBmib 4 gfwmetene b. 2,3 wBpb 4 Flwreiene Cc. 1 wpmd 4 sflwmereneu
d. 1, 2 wBmid 3 sflwrerenel e. alemL Oz flwailsvensv.

The objectives of the District Mental Health Programme are

1.

2.

To provide mental health services including prevention, promotion and long term
care at District health care delivery system

To augment institutional capacity in terms of infrastructure, equipment and
Human resource for mental health care
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68.

69.

70.

71.

3. Facilitating the mental health services at doorstep
4. To promote community awareness and participation in the delivery of mental health

services.
a.1,2,3 only b. 2, 3,4 only c.1,2,4 only
d. 1,3, 4 only e. Answer not known

wrall L &BVS FHLGHHar GHnlsComeisenTelest

1. e’ L &srHmU urgismiy alnhCwns Semwliisd $GLY, ugHel 2 uiTe LoBHID HewIL
&Tev ugmofltiy o 6Tefll L wehevF CFeneudemeT GULDHIFHSH60

2. eMheLLll LUTHISTUSSTRT  6THL LMoL o LISJeumhi&eT LoBMpID eldh  6uemd  Sidluleumnses
SlgliuenLuied Bpieuer gHmenet SiF@flgHaHe0

3. aiBCxTmID eMhev BFemeusemer 66 HTE3H60

4. s alfilenrTenel 2mHGHalshdHe0 WBBID LaIH0 HHTHTT CFamaudbenen alpHIGaH 60 LRIGHBMBEL
a. 1, 2, 3 w @w b. 2, 3, 4 w @D c. 1,2, 4 w @

d. 1, 3, 4 w B e. alewL Oz fuialsdensv.

Which chapter in Thirukkural reflects the Northern Scholar’s ideology of philosophical
knowledge?

a. Not Killing b. Instability c. Renunciation

d. Understanding the truth e. Answer not known

QUL BITeoTHlell ‘SHSHHIUEHTAID’ 6IIIEID H(HSHENGH (LI BISHHID. & (HHSBETNaN . DIHBTTHMHDH H6wIL 5.
a. Q&meveVTemLD b. Peeouwimenio C. @Ima]

d. Gwul o ewiTged e. allwL GFHfweleemev.

Which of the following titles are related with Pandyas?

i) Minavar ii) Villavar iif) Kudavar iv) Panchavar
a.i only b. ii only c.ivand iv only

d. ii and iii only e. Answer not known

LedTeu(Hd LIL L MIS6eI60 LITeTgUl LOGT6NTTEBL 65T OIBTLTLemL WIS 61517

i) Weomeuit 11) " afleLevaulT iii) @Leu iv) u@hgeuT

a. i w’ G b. ii wl @b C. i w@mpub iv L G
d. ii wBmd iii w0 GD e. alowL O fNuealsvemev.

Which of these actions cannot lead to Truth - Consciousness?
a. Porul Allavatrai Porul Endru Unarthal

b. Saarbu Unarndhu Saarbu Keda Ozhugal

c. Aiyathin Neengi Thelithal

d. Sirappu enum semporul Kaanpadhu

e. Answer not known

SDHBTHILIUBBIGT 61H OLOUILETTHeVIHET CFweOLTH Eevensv?
a. GuTmeT ©jedevBENMBLI OILIM(HET 61T 2 6u0ITEH60

b. aniiy o _ewihg &1y OB QIYEGHH6V

C. WHHer phddH OFHellgeo

d. dmpiiy erenignid CFDELIT(HET HTEUILIGI

e. alemL O flwailsvenso

“Vendharkku Oli” - What is the meaning propounded in this Thirukkural?

i. Kodai ( Donation) ii. Ali (Kindness) iii. Protective Sceptre ( Sengol Kudiyombal)
a.ionly b. i, iii only c.i,ii only
d. i, ii and iii e. Answer not known
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73.

74.

“BoubsiThE@ eeflwmeugl” eaiml HHHGHB6T IHmeId dnyldema?

1. OsmenL ii. ol iii. GQamBsmed GlGuITbLIGY
a.i @ b. i, iii wr G0 c.1,ii ol (Bb
d.iii @b iii e. alowL O MNuelsamen

Match correctly the Excavated information with the Excavation sites:

A. Thanjavur excavation 1. Roman Pottery
B. Kilaiyur excavation 2. Centre of Buddhism
C. Tirukkampuliyur excavation 3. Commercial contact between Rome and Tamilagam
D. Uraiyur excavation 4. Culture of Kaveris
A B C D
a. 1 2 4 3
b. 3 4 2 1
c. 4 3 1 2
d. 2 3 1 4
e. Answer not known

SIBD6] (HTELOLTHeT) SuITuIFHulesr @D LBBID Sener HHD _HHeucosCeam(h  FiflwmereuiemmpL
CUT(HSHHIS.

A. sehameyT SiseuryruiFs 1. Gymiomeoiud L1 LIT 0T BIE6IT

B. gapuym oispeurymuisd 2. Uss S MWD

C. FmsbasbyeiwT oisbamrisd 3. Ggmorelums@D SUODTSEHSHSD QL G o en alewis

Ot

D. o eopwyT oisbeunymuiégd 4. snGeuflufesr &eom&amyid
A B @ D

a. 1 2 4 3

b. 3 4 2 1

C. 4 3 1 2

d. 2 3 1 4

e. allenL  Ggflwalsdenev

Who speaks the following lines in Barathiyar’s “Panchali Sabadham “? “ Tharumathin
Vazhvudhanai Soodhu kavvum”
Tharumam Marubadi Vellum”.
a. Panchali b. Kannan c. Arjunan
d. Tharuman e. Answer not known
“HEHSHHE AMDASDEE GBBl SEI|D”
SH(HWWD @ILY  GleuedeYID”
yrmpHwnfler umehamed FuHHHL BFHemenndF OFTeOLIGUT WITT?
a. Umehamed b. @evwrevrest C. S|T&FFHe6st
d. smLest e. allewL Oz Muialsdemsv.

Choose the right answer:

Which of the following statements are true about the Cholas?

i) The first mentionof the cholas is in the Ashokan inscription

ii. They were independent rulers in Tamilagam

iii. Kanyakumari Inscription and Anbil Plates give information of the early Cholas

a.11s correct b. 1 and ii are correct c. 1, 1i and iii are correct
d.iand iii are correct e. Answer not known
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76.

gflwrer alewLemwidh BHbOHBHD

&6 QBTBHHLILL (HeiTen auTdSwdbdHeo GampTser uBplw Fflwmer auTsSuSHmeHd FmBIs.

1. 918518 HeLOaULIged GFMPTHeT LB (LPHeL (WewBWTs G LILL BeTeng).

ii. HOPSHH0 GHHAT DJFTEH DIQUTH6T NeTRIS GIT.

iii. serelwr@ofl H606aL HHeT WBBID Dieled FTaFarwDd GFTTHT UBBIW HEHaIOHM6NSH
& DIBBS).

a.i wl @G Filwmersl b. i w@mpd ii w @b sflwrerg

c.1,i1 wmmb iii gFflwmerg) d.i wppid iii sfwrerg

e. alemL Gafwealsdenso

Four pictures of a cube are given below which number is on the face opposite to 3?

N i /
/ it > e
& N >
1|6 6|5 1| 5]
/ N e
I i1 IV
a.l b.2 c.4 d.5 e. Answer not known
SO FHTSHIHOT BTG eUmILLMIS6T SHC QBTHHSUILL (HelTenedl. 6lhGHawlent 3 @& 61 TUSBLOTS
B(hdHs (WPIgULd.
- ,'/,
\\\.‘)/ / ‘\\Jn
Q ¢;J 6|5
/ \V
1 11
a.l b. 2 e. L O Muialeoamev.

Solution
1,2,5,6 are lie adjacent to 4. Hence 4 must lie opposite to 3

Find the area of an equilateral triangle whose perimeter is 180 cm.

a. 1558.8 cm? b.1885.5 cm? c. 1585.8 cm?

d. 1888.5 cm? e. Answer not known

180 Q5.18. F@Bmene] QHTEWIL @(H FOUSD (WHCHTEMISHAGT LITLIL| HT6wHIH
a. 1558.8 cm?2 b. 1885.5 cm? c. 1585.8 cm?

d. 1888.5 cm? e. alowL Oz Muielsdamev.

Solution
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77.

78.

Area of an equilateral triangle

—EEES unit
g o 5%

= VT x 60 x 60 sq.m

= /3 % 15 x 60 sq.m
=1.732 x 15 x 60 sq.m
= 1558.8 sg.m

Area of an equilateral triangle = 1558.8 sq.m

The CI on Rs. 15,000 for 3 years if the rate of interests are 15 %, 20% and 25%, for the I, IT and III
year respectively is

a. Rs. 10,875 b. Rs. 10,785 c. Rs. 10,885

d. Rs. 10,775 e. Answer not known

L 1T wppio 1T eyewiGasensstar aully aismiser (wpepBui 15 %, 20% wimid 25 % eefed 5.15,000 &&
3 SWNIBHG DMLHGHWD QI lg HTEWHIH.

a. em. 10,875 b. ew. 10,785 c. ap. 10,885
d. ep. 10,775 e. el O&MuielsOeme.
Solution

1 1 1

A= 2) (102 (14 -5
100 100 100

Substituting in the above formula, we get

A=15000( 1+ = 1+ 2 1+ 2
=12 e e _—
100 100 100

115 120 125
= 15000 x X X
100 100 100

= 25,875

~. Compound Interest (C1) = A-P
= 25875-15,000

=3 10,875

-~ CL=%10875

If A :B=2:3, B:C=2:4, C:D = 2:5, then A:D is equal to

a.1:5 b.2:5 c. 35
d. 2:15 e. Answer not known

A :B=2:3,B:C=24, CD =25, aiafled A:D @ gwwrer aldsibd
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80.

a.1:5 b.2:5 c.3:5

d.2:15 e. alowL OzMuielsdamev.
Solution

%_EB_" _2

B 3IC 4 5

A_A B C_2 2 2_2
"D B C D 3 4 5 15

The Lowest Common Multiple (LCM) of two numbers is 6 tines'of their Highest Common
Factor (HCF). If the HCF is 12 and one of the number is 36, then the other number is

a. 48 b. 72 c.24 d.12 e. Answer not Known

Cam@salLl L B eeuiselle WFFm L Ourg 1oL miSler LgHUuTargl,  Seueil[ eeamseie LOIGLIT
Curgis smyeniuier wHlemU el _6 WLEE SiHS0TGWD. Gweld Sieialm seuseafer WOHGLMH U
srrenfiulles &Y 12 BB Sieuei(h | eleniserle0d 6  6TewieniTendl 36 6Tene0, LOBONT(TH 616001601 6T
&I

a. 48 be72 c.24 d.12 e..alenL | Opfweaisoenev.

Solution

Product of two numbers = LCM =x HCF

36 x other number = 72 x 12

72 % 12

Ott ber =
1er number 26

Other number = 24

Which of the following statements about GST council is not true?

1. The members of the GST council choose one amongst themselves to be the vice-chairperson
of the council.

2. Every decision of the GST council shall be taken by a meeting of not less than two-third of
the weighted votes of the members present and voting.

3. One-half of the total number of members of the GST council constitute the quorum at its

meeting.
a.land 2 b.2and 3 c.land 3
d.1,2and 3 e. Answer not known

leTorvly  HaeirFled UBPW LesTeuhld DINfidbamEHerled 618 2 6mTenLoulens0?
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81.

82.

1. 2eterdly Hoyeridled o MINIIeITHeT HHIGH6TN60 @HEUMT Ha|adiFledlenr Hemewidh HenevaugTd BHiTey
CauwidmriTaer.

2. 2etervly Heyadlellei eeleUT(H (LPIYAD HeVbHEH OBTeiTEHD oBEID auTdhseMd@Gld o mitiierser e
AUTHGH6M60 cLpIBled BTeni(h LRISBGHS GHMBWTSH Sl L SHFHT60 61(HHBLILIGBLD.

3. 2erervly  seoyerFledet GomsHeH 2 miinlenTsefer eewiemidbamadulss  LTEH  GUT IBHT  Fnl L GHFH60
GmBHS eTewtenibenduievmer HUGT UmIE GUBIGIIT.

a. 1 wmppid 2 b.2 wmmib 3 c. 2 wBmib 3
c. 1, 2 oBmib 3 e. alewL OHflwealsdensv
KEY NOT MATCHING

The Monetary Policy of the Government of India emphasised the following two aims of the
economic policy

(i) To control and reduced inflationary pressure in the economy.
(i)  Speed up economic development in the country to raise national income and standard of
living of the people.

(iii)  To increase the per capita income.
(iv) To have a cheap money policy.
Select the correct answer by using the codes given below:
a. (i) and (iii) are correct b. (i) and (ii) are correct. . c.(ii) and (iii) are correct
d. (iii) and (iv) are correct e. Answer not known
@bHw  opfer  umuTHBH  OCaTeTndWTarg OUIHeTTEHTIS . OCotetemsuie Llaeumd  @yen®
Crrésmisren euediu|BishHIs aImgi:
(i) QUTHENMTHTT SHH el ibs DI(0HSHHMHD BLBLILGHHOD GHMDBLILISBEGLD.
(i) Copdw euBLIAID WBBID  W&HSHME - UTDSEMS HISHMSD  _UTHSH BILIGET  QUITHETTST)
aueT&Flenul allenFeyLiBdS.
(iii) T EUBHLTAIHMS DiHH MBS
(iv)  weleyls LiewiBOIETATENSHBTSH
GBuibsmen LWOLBSHSHE Flwmar alenl HTewIs.
)

a. (i) wopnd (iii) gfwreareme b. (i) wBpb (ii) sFfwremeneu
c. (ii) wmmid (iii) “afwmerene d. (iii) wBpd (iv) sfwrereme
e. alemL OFflualsdensv

Which of the following statements about Index of Industrial Production (IIP) are correct?

1. The IIP is a key economic indicator of the manufacturing activity in various sectors of
economy.

2. IIP data is regularly published by Central Statistical Organisation (CSO)

3. The base year for IIP is 2011-12.

a.1land 2 only b. 1 and 3 only c.2and 3 only

d.1,2and 3 e. Answer not known

Ueteumd opfidbmaseied, Gamfeogimn o susdules auflng (IIP) uppslw silwrer gmBm e1g?

1. IIP eteoiugl, wedBeuml QUImeMTHTY HlewpHeler o MLSHFH BLougHmsHeller (WwhHdwl CLUTHETTSHTY
GBI ST IQUITGLD.

2. IIP gyeyser wsHdHAw yemeiulwed emioliy (CSO) — aumed OHTLMHEH Geueiul LGS Bma.

3. IIPsamenr ouglient. siewih 2011-12 Sy&Lb.

a. 1 @b 2 B b. 1 wBpid 3 WL B C.2 Bmitb 3 W (B

d. 1, 2 wBmd 3 e. alewL OFflwalsdensv
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83.

84.

85.

86.

87.

“British rule was established in India with the cooperation of Indians, and had survived only
because of this co-operation. If Indians refused to co-operate, British rule in India would
collapse with in a year and Swaraj would come,” who said this?

a. Sardar Vallabhai Patel b. Motilal Nehru c. Mahatma Gandhiji

d. Bal Gangadhar Tilak e. Answer not known

“@bHwrselar @oHHmlGUTh oymSGowfear o d Boeuiul L g, O SHIMPIITETE HTer
Abs Sd UowsHs0sTaigmesdng. OhHUTEN HIIMWEHS  LBISHT,  Abslurele
RIS Ceowiflenr oL & @b aUBLSHL ailDhEH FWITERIUID eOHLD” 61eTml FnpSluleu wimT?

a. FrgmT eueveoLmUl LI GL 6D b. Gurgeored GrH C. LDBHTHIOT HMH)

d. utev BMIBTHY HevbiT e. alewL OHflweaiedensv

In 1944, the Government of India setup a planning department under the chairmanship of

a. S.N. Agarwal b. M.N. Roy c. Dr. John Mathai

d. Sir Ardesir Dalal e. Answer not known

1944-860 @bHHUW DIFFTHISLD Hmevenoulledt S @h HLLSH HBdW gBUBSSHWSI.
a. 6I610.6I6H.  SIBTEUTED b. enb.erer. mul c. Dr. sgmesr omgmul

d. g1 omGsdiT Hevred e. alowL OFHfNwelsvensv

Who arrested by the British Government.for the Bomb explosion in 1983 at Srivilliputur Police
Station?
a. Sathyamurthy b. Parthasarathy c@Kamaraj

d. Ananthakrishnan e. Answer not known

1933-b ouewiB UfaleoadiySHITT HTeued HlameoulSHHe0 ClayGHeamih CouSHSHBETS YHIS G DIFFT60
&G OFUIWILILIER aUT WmiT?

a. FSHHWepTHd b. unigsamys) C. SMDJTER

d. sierbhsaE mHeademn e e. alewL OFHfluwialeveney

What is the title of the Doctoral Thesis of Dr. B.R. Ambedkar in 1923?

a. The problem of the Rupee b. Caste System c. Untouchability in India
d. Unbritish Rule in India e. Answer not known

1923911b syemnged BuBosmeni LrsLT B.R. oubGugsfler (pewereut ulL syuialer gHemeoll] ereier?
a. epumuien LgFHeneor b. ard sy

C. @phFHwmaled &emwiLTenio d. @pPHwmaied eyRFHCoowT Beveors Sy &

e. alemL Gafwealedenso

Acid rains are produced by

a. Excess NO2 and SO2 from burning fossil fuels

b. Excess production of NH3 by industry and coal gas

c. Excess release of carbon monoxide by incomplete combustion

d. Excess formation of CO; by combustion and animal respiration

e. Answer not known

SIB60 DEMLD CTHETEL 2 (THOUTHIBSI

Lo erflOuTHemen erfiliLFHTed GQeueilaumd eydsriunguimer NO2 woBmid SO»  epsold
aFstiugwrer (NHs) o Buss wBpid g Blevdsf sutuy cpeold

SIFFLIQUITET HTTUT GoTeaimdeng® (pemowiTsd 6fléasluLmosd ESmULg
SiFsluguwimer LweTUTL BB Sflwidlevsuru) OBBID aleoRidSler &eauTd (LPeNBSHET CLP6VLD
alenL  Ggfwealsvenev

can o
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88.  Why is the Himalayan region poor in mineral resources?
a. Displacement of rock strata has disturbed the arrangement of rocks and made it complex
b. Itis made up of crystalline rock
c. The terrain makes exploitation of minerals difficult
d. The climatic conditions are not suitable for exploitation of minerals
e. Answer not known
BOWIDM6VL! LIGSHH6eM60 HeID 6UENHIGH6T 66T (GHmBeUTs 2 6iTeren ?
a. umems LYOESEE: 21k B UeuwiTES UTenpa6ei 63t SImLOLIMLIF Fn@mevsH I SIS
ks s 1V 3 10 (91 o3

b. ®a& LS LUTEOBUWTED SLETSI
C. [HleolIugliy SHeNmIS6T IBLILMS BYILDTHESGHS B
d. sluGaliLBenev SNOBIG6T IBLULSBE CJBBHEV6V
e. alemL Ogfwalsdeney
89.  Asthamudi is an important lagoon of the coast
a. Malabar coast b. Konkan coast
c. Cholamandel coast d. Northern circar coast
d. Answer not known
SIVSHT(PIY 6THIM (PSS SHTUI6D SLBHmIUIeD BTt ILBSBHI
a. GULITT &L [B&HED] b. OaMRISTEN &L BHen]

c. GamLwewiev HLBHmy  d. MEETHIT &HLBHM]
e. alewL Gafwealsvensd

90.  Which of the following statements are true about pepulation growth of India?

i Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 44% of the
total population of India in 1996

ii. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 48% of the
total population of Indian in 2016

iii. =~ These states contributed 70% of the total increase in population of the country during the
period of 1996-2016

a.ionly b.iand iii only c.iand ii only

d. ii and iii only e. Answer not known

AhHwmaler 0EBL0HTend euenTFd LBl eTeuhd Snppiseied Ffluimereme eTeneu?

1. UsrT, o sariip6sab, wiHIHwLIF6sha1b, @Urrggemg,rr@ﬂ wBmId  @flgm, 1996860 @b wimelest
OTss WHELCHTMmHUIN 44 FHAIGHD SYGLD

ii. UsrT, o SArinipCsaid, wHAHWLICsad, BImmevster wBmId @flgm, 2016860 Gbhaluirales
OWTss WHELCGTMmHUTN 48 FHAIGHD SLGLD

iii. 19962016810  &T60  SLLSHH60 BT IgeT Cordhs 1w 0sTms  SiFHsfinied  GComsemi
LMHeVmIE6T 70 FHaigHID Lk SaHer.

a.i Wl (w b.i wBpd iii w G C.1 BmIbd ii L (B

d.ii wBmo iii w’ @D e. alewL Oz fuialsdensv

91. In A.D. 1894, the Kashi Nagri Pracharini Sabha was founded in

a. Delhi b. Bombay c. Madras
d. Calcutta e. Answer not known

&.19.1894860 &1l pafl Uygemfel gur @60 Bmeulul L g

a. GLeved b. wbumul C. QuL_gmerd
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d. seossHHT e. alwL O MNuealsamen
Actually, it was founded at Varanasi in 1893
KEY NOT MATCHING

92. Who was the first person to place the demand for a separate Muslim state in British India?

a. Mohammad Igbal b. Muhammad Ali Jinnah c. Rahmat Ali

d. Mountbatten e. Answer not known

Wl wad BbHwmalsd, (WPHeT (WHeled, (PervelbdehdbeTear Heall BTH GCasmildmeemul (LpeTemeldh et
wir?

a. (PHIDG BSHUT6D b. waibgl o100 26TenT C. JaBS eV

d. weyewn’ GuL L e e. alowL OsMNuelsamen

93.  Which of the following statements are true about Buddhism?
1. Buddhism denied the authority of Vedas
2. Buddha’s teachings were largely based on Brahmanic ideas of Punarjanma, Karma and
Moksha
3. Buddhism was not practical and ethical
4. Buddhism accepts God as creator
a.1, 2, 3 are correct b. 1 and2"arecorrect c..only 2 is correct

d. 3 and 4 are correct e. answer not known

&p GRUILLILGUaBBed CuedHs e GBISS sflwnear BB CxTey LFUIS

1. Quengad Couspmisaia HHHHHMHDH LOBIGIHBSH

2. Quenss  Cursemensein, ' Edpr),  Gorlgw, &Tor o Hw, LgToewids  BHSHBHISHMmEN
SN WITHS GBI &l

GLIETSHSID HEML(LenB, LOBBILD CBBI(LPBUBBS!

QUETHSHID SHL 6Tl DL LILIUTTS GBMBIS0CISTeTS MBS

1, 2 wppid 3 & b. 1 wBpb 2 af c. 2 wl @ &

3 oBmid 4 s e. allawL G flwalsvenso

Ol

94.  Why Ulama’s had great influence in Muslim society, politics, administration and religion?
a. They were in great numbers during the Delhi Sultanate
b. Due to their holy living and high thinking
c. They were well-versed in Muslim theology and Figh
d. They controlled trade and industry
e. Answer not known
(PeOellD  Fewpald, SIFlwed, HiTeursld BEXID WWHD YBweuBBled o euTHEeT g GLHLD
CFeLUTHEGHF OFe0IH S 6TTH6N?
DIAUTHET GIL6060 HFOHTAHHHL DIFHBH eTenIcnNHmBUIeD E(HHSHE0T
SlalTHele Lelsh aumpbend WLBBID o WiMbhs FhHenen SIJemuTLOTS
SIUTHET (Lperdelld Bempuiuied @b . "Lé Spdlweumpled mHet@ GCiTeFd GLBmHbIHeT
SIaITH6T AUTHSHBD 1OBBID CHTIHe0SHImBenUIS &L BLILIGHSH 6T
allewL  OFfwealedenev

a0 o

95.
Assertion (A): Rule of law entails that all persons, both public and private
institutions, the state and other entities are accountable to publicly promulgated
laws.
Reason (R): The rule of law forms the base to international peace and security,
and it is at the core to protect people’s rights and their fundamental freedom.
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96.

97.

98.

99.

A is true but R is false

Both A and R are true and R is the correct explanation of A
A is false but R is true

Both A and R are true but R is not the correct explanation of A
. Answer not known

°an o

&Bm (A):  FLLGHST S aeug SIS BB SHENWTT HHIeUETRIEN 2 6iTem  SieneTe(hLD
FLLEIBS

BB SPsE  LBBID  UB HDEUSTRISEHLD  &SSETTEL  SuIBmULL L
QuUITWICILITGTRTHEIT

smpenid (R): FlLsHdT o8 eeiug UM (B Sienod  WB@ID  UTHISTIY  SigliienL uled
2 mautengkl. Gued  oIH  dbseler o fenbsmenuid  SlauTEelar  SIQLILINL

FHHATHMSUID STULUG (IPHSUWID  6T6IHBGI.
A aaiug gfl spemmed R eleiiug sHeuml
A vppd R @yeopd s wppid R eemg A a1 gflwmer ellendsomgb
A sap suemmed R ereiiug &
A vppid R aemg gfl spemmed R eradiugy A et gflwner alendsd oisdev
allenL  Ggflwalsvenev

o a0 oR

Which of the following statements is/are not true about the ‘governor’?
a. He appoints the Advocate General of a State

b. He appoints the Chancellor of Uniyérsities in the State

c. He appoints the Chief Minister

d. He appoints the state ElectionsCommissioner

e. Answer not known

‘omBlev SLEHHT LB SDBBMIL: 6T S WBISH6T60 61gl/ 6Tenal _ HaIBTegH?
LOTH60  H6N6VeMLD, 61LDESMWIEHeNT  [HUILOHESIBTIT

LOMHI6VLI  LIGOBEMEY, HLpBMmISH6T6er CoubHeny [BIULILDSSIBmT

(PSHELENLOEFF G0 BILLILO SEB BT

wrplev CaiTHed oiFHsmilenwt. mluldléamT

alenL  Gafwealsvenen

oanoe

Need for a constitution for free India was first suggested by

a. Motilal Nehru b. M.N. Roy c. Subash Chandra Bose

d. Mahatma Gandhie. Answer not known

&FFHHIHT OhHuTalBG T SFmwlyF UL GeuediB elar (PpHeded LfbHIHIeNTSHHeuT
a. Gurdevred Gmrm b. M.N. gmul Cc. autey ghaTGumerd

d. wsTHT BMHS e. alewL Oz fuwelsvensv

In a Modern Democratic state, citizenship is a

a. Natural right b. Legal Right

c. Statutory right d. Fundamental right
e. Answer not known

@ Hafer dHHeMTLd BT Iged Glpuflento 6TeTLIGI

a. Qupmas 2 Menio b. 'L o fenp

C. BTLT@EHOOBEF &L o flenip d. el o fenp
e. alemL O flwailsvenso

Which one of the following statement(s) is not correct about the Indus Valley People?
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100.

101.

102.

103.

i. The Indus Valley People worshipped trees and animals

ii. The principal deity of Indus Valley People was Krishna

iii. =~ The Indus Valley People worshipped fire and water

iv.  The principal deity of Indus Valley People was mother goddess
a.iand iii only b. ii only c.iand ii only
d. ii and iii only e. Answer not known

SpdbBemLuBmIeT FbH HHem6TL LB HeupTer FaBmI(HeiT) 615/ eleneu?

1. FbxiCeueri 10HH6T OJID WOBBID @NeVHRIGHHMETSH HLGY6NMTS  GULOILIL L 6T

ii. Fbai0aue 10HHeM6T (IPHHUIsS HL 66T &(HAR6uNT

iii. Fbxi0auer 105H6T QBB OBBID HenJdh HL TS GUHLIL L 6TT

iv. Fbgloeued odHella (pHSWdb FHLaell CUeRT OFHUIeUBIGHEN
a.i @b iii w’ GHb. ii L G C.1 w@mmib il WL B
d.ii wBmw iii w’ @D e. alewL Oz fuwealsdensv

The primary contaminant included in cigar smoke is

a. Carbon monoxide and dioxide b. Carbon monoxide and Nicotine
c. Carbon monoxide and Benzene e. Dioxicine and benzene

e. Answer not known

FaO yemauled 2 6Tem (LPSHEVHeney LOTE

&MUt Gureaimheng® LOBBID HL LHmE B

&iTuer Greméma® oBHBID HlaGHTgen

&iuet Guremdeng®  LoBpd GlLiesTS6ir

L bFlenger BpID Olieid 6

allenL  Ggflugellsened

o an o

When a ball is projected upwards there is an increase-in its

1. Potential Energy 2. Momentum 3. Kinetic Energy
a.1 only b.1 and 2 only c. 2 only
d. 2 and 3 only e. Answer not known

upbemd  BuwGev eflWCUTEH oiF GG OFOSBH. DIOUTIPSH LbHFHe0  SLDHBHEIL UBNIET
SIFaMbImEHI?

1. HeweowmBBed (&) FTHHUWILOTERT HLBMBEL 2. © b

3. BwEs MM

a. 1 o @B b. 1 wBmd 2 w G C. 2 wL (B
d. 2 wBpb 3 wHw e. alewL Oafuialsdensv

The enzyme involved in unwinding of DNA is

a. Telomerase b. Helicase c. Polymerase
d. Ligase e. Answer not known

DNA ou @yewip @ewipsentas LIflluged FEHUBLD GBHTEH wimg?

a. G BeumoByerd b. QameaiBserd C. uTellGLGyerd
d. e98merd e. alewL Oz fuwialsdensv

The first step in the seed germination is imbibition of water which induce the

a. Stimulation of plumule b. Breaking dormancy

c. Growth of radicle d. Resumes metabolic activities

e. Answer not known

alend (LPMeTHHeI6T (PHev Hemeowtas BT o mlehaliuBBursd B ama SHTabhaSna?
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104.

105.

106.

107.

a. (6T GHHHH SR LGS B b. alews 2 BéHsD HmLLUGHBS
c. alenagBauT suenTEHBaI d. QFed BusHID HIORIGHBS
e. alemL Oz flwailsvenso

Which is the one considered to be more important to study the History of Science is
a. Antiquarian curiosity b. Logical reasoning

c. Scientific Knowledge d. Conjunction with philosophy

e. Answer not known

aflalwed sugeoTBmlenerd SBUKH WS (PHBWIDTRISHTHS HHBULUGBLD 6isl

a. UbOUTHeT 15&H SiTeuld b. siés FfHLUTHE HTERIBISTEI

c. 9palwed ey d. 5505566 BenewiliL

e. alewL Gafwealsvenso

Which one of the following phenomenon cause adverse changes in global climate pattern and
wreak havoc world wide in the form of floods and droughts?
a. Carbon Diodixe b. El-Nino c. Tropical Cyclones

d. Itai-Itai e. Answer not known

SHETmLBIeL  6lhd  @eipl, 2 605  Senaled,  Oeueend  eUBLF 6B eUgeUmISHeTe0
UalHL LGl  (penp&Eefled LITHSHLONE  LoIBBhismeT  giUbGHS,  SuBenslt GCureyssl Hawd
STTEWIOTS B(HHSHMSHI?

a. sfuiev eumuy b. ereomIGeomm C. GouliLewT 60 _@Emraler

d. @ Lru-@ Ll e. allew OxfNuieiledamev

Which of the following statement is/ are correct NONOBOTS are:

1. Robots that'carry out a very specific function at nano scale level

2. They can beinjected into blood stream

3. They can be used to measure toxic elements in the environment

4. They are very cheap to produce

a.1,2and 4 b.1,3 and 4 c.1,2and 3

d.1,2,3and 4 e. Answer not known

Sdbarewiueupmler o1z eewer Fiwmer gapm ‘NANOBOT mrGemmumt sieniuGeois)

. @m @EuilL usieow QFuw o FHeud BTCaMS LT Sienalsomer GrmGum @b
2. DeouBenp OrsHd HTeMmIG6Ts0 2 I LG &HH6e0TD

3. DeauBens FBBIFGHWeIe0 2 6o BFSAL QUTHLBmeNT Slemall  LIWITLIBHSHSHEOTLD.

4. Gapemp 2 BUSHEH QFWeg W wedeuTears

a. 1, 2 wmpid 4 b. 1, 3 wBpd 4 c. 1, 2 wmpid 3
d. 1, 2, 3 By 4 e. alewL OxfNwalevenso

Which of the following are correctly paired:

i KVK - Kisan Vigyan Kendra

ii. SAME - Sub Mission on Agriculture Extension

iii. NSDA - National Skill Development Agency

iv. ATMA - Agricultural Technology Management Agency
a. i, ii and iii b. ii, iii and iv c.1,1ii and iv

d. i, 1ii, iii and iv e. Answer not known
Leiaumeuasteupplled 61 Fflwines SenenrdaliLl (HeiTerng?

1. KVK — dgren alehepmeir Gabym

ii. SAME - Gauenmewt afllfleurdssd SHienent HLeugHend
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108.

109.

110.

111.

iii. NSDA - Gxdlw dmer Gubum’ B (pHenio

iv. ATMA - aleugmu Gamfeomi U GeuTewTenid (LH&H6emLD

a.i, ii wpmib ememen b. ii, iii wB@ID iV C.1i,iii wBmb iv
d. i, ii, iii and iv e. alowL O MNuwealsdamen

How many number or Ramsar sites are identified in India till 15" August 2022?

a. 82 b.78 c.75 d. 70 e. Answer not known
@hFHwreled eHHemern JTHSTT L MS6T 15 u@He0l 2022 eueny Sl piwlilLl (Heitermeot?
a. 82 b.78 c.75 d. 70 e. alewL OxfNweaisoensv

Read the list given below carefully of dignitaries and find out among them the correct
hierarchical order with respect to their rank and precedence

i Chief Election Commissioner of India

ii. Cabinet Secretary

iii. Chief of Army Staff

iv.  Deputy Speaker, Lok Sabha

a. iv, iii, i and ii b. iv, iii, ii and i c. i, iwgii and iii

d. i, iii, iv and ii e. Answer not known

BB CHTEHSIILLBeiten 2 Wit USe] SEIAITEENGT L IQUIMm6ed  &HalelHd  SiauTaen  Lgaluler
SlgliuenLuileomest (peire_Memioll LIMHlene0Ll AL QU160  &6mTLnsle

i BhFH L HMeVID BHTHED SN EUIILLIT

ii. WLHHW SIMOFFTNIF _OQFUIeOT

1ii. HEM60MLD BT TeImIeN &AM

iv. LD BHETENEU, HI606MTS |« &H6N6VEUIT

a.iv, iii, i @b ii b. iv, iii, ii _o@Bmid i c.1,1v, il ompud iii
d. i, iii, iv @b 11 e. allwL OxfNuwelsvamen

Which is the imternational coalition of solar-resource rich countries that are collectively
addressing common challenges on solar-energy applications?

a. International Solar Energy Society (ISES)

b. International Solar Alliance (ISA)

c. International Renewable Energy Agency (IRENA)

d. International Energy Agency (IEA)

e. Answer not known

G QBBed UwaLTHHeNe0 CQUTHIITS © 66l FouTeoHemeN HTLLFH GWVSHH Sl LTS alaurdds
o meuterr - Gflw euend OGHS BTHBeMT Gnl L ewoli] 61gi?

gauBss Giw ouBmsed Fapsd (ISES)

sauBss @iw gé8 gnlLenl (ISA)

saBss Lalilssssss BB (pamw (IRENA)

seuBss oummed (paemo (IEA)

alemL  Ggflwealsvenev

e an o

Match the following and choose the correct option related to ISRO
A. URSC 1. ISRO’s virtual space Museum
B. ITTP 2. ISRO satellite centre
C. SPARK 3. Space science for school students
D. YUVIKA 4. Technical training for ISRO staff
A B C D
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a. 2 3 4 1
b. 3 1 4 2
C. 2 4 1 3
d. 4 3 2 1

e. Answer not known
ISRO Oariumer Spoareniuabens QuUTHSHS wipIbd Filwrer aleLamuwl Csits

A. URSC 1. ISRO afleir alTggaied ero@uerd 1Oluyfuid

B. ITTP 2. ISRO gieneni&Gamelt [Henevuid

C.SPARK 3. uetell  oTeTOUTHEHDHBTE alawiCealei Sipialuied

D. YUVIKA 4. ISRO afer uewilwmenitasendsrer Gomheompi Lt LulBd
A B C D

a 2 3 4 1

b. 3 1 4 2

C. 2 4 1 3

d. 4 3 2 1

e. alenL  Gaflwalsvenev

112.  Match the winner of medal in common wealth games 2022 with their sport
Player Sport

A. Sharat Kamal
B. Lakshya Sen

C. Mirabai Chanu
D. Nikhat Zareen

A B C
a. 1 2 3
b. 3 4 D,
C. 4 2 1
d. 2 3 4

e. Answer not known

SToaTeeue0d 2022 allenemumiged LGHSHHD OeueiBeuTasemen SieTdHengl alenl wrl BLer CUmhHEis

allewermwim_ (B afyiT
A. Gagyl ®LD6L
B. eudeniwim GFest
C. Symumul grey
D. pléasl. agfler

A B C
a 1 2 3
b. 3 4 2
C. 4 2 1
d 2 3 4
e. alemL Gaflweledenso

113. Which is correct?

1. Boxing

2. Weight lifting
3. Table Tennis
4. Badminton

R N

aflenermm(H

1. 55 gFewenL
2. U@h HTHGH6D
3. Gy LB

i HYV - High Yielding Varieties

ii. MSP - Maximum Support Prices

iii. =~ PDS - Public Distribution System

iv.  IPM - Integrated Pesticide Management
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a. i, ii and iv only b.iand iii only c.1,ii and iii only

d. i, iii and iv only e. Answer not known
eigl Fflwmeorgl?
1. HYV - 918s alemendgsd SH@HD euendHei

ii. MSP - gifsul s susye| alenev

1ii. PDS — Qurg «lpCuwns (wens

1v. IPM - @mprdmanbs LFFeE0sme060 Gsvmemtento

a. 1, il ommIb 1v L B b. i wBmib iii wr Gib C. 1, 11 LoBmub iii L BHd
d. i, iii wBpb iv wr BHib e. alewL Gapfwailsdensv

114.  Match the following

A. 1997 1. Anaithu Grama Anna Marumalarchi Thittam
B. 1998 2. Varumun Kappom Thittam
C. 2006 3. Samathuvapuram
D. 2009 4. Namakku Naame Thittam
A B C D
a 3 4 2 1
b 4 3 2 1
C 4 1 2 3
d 3 1 4 2

e. Answer not known
SIpSH BT aUBmBL  CLIT(HIHHISH

A. 1997 L OImeTHSI BIITLD. DITEnIT LDBID6VTFS & SH L 1D

B. 1998 2. eu(mb(et S IGUITD &L 1D

C. 2006 3. 8WHSIIJLD

D. 2009 4. BWEG HIGD HiLb
A B C D

a 3 4 2 1

b. 4 3 2 1

c. 4 1 2 3

d. 3 1 4 2

e. alemL Gaflwealedenso

115.  Match the following Acts with its corresponding years

A. Madras Wild Elephants Preservation Act 1.1882

B. Tamil Nadu forest Act 2.1980

C. Forest Conservation Act 3.1972

D. Wildlife Protection Act 4.1873
A B C D

a. 1 4 3 2

b. 4 1 2 3

C. 2 3 1 4

d. 3 2 4 1

e. Answer not known

FULmIBmeT DIHCaBH CFHTLTmL W SLenihECenm® CUMTHoHSHI
A. HITED aUeT WITMEIHET LITHISTUILFFL LD 1. 1882
B. s0bp1h euegal LD 2. 1980
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C. auanr UTHISTILF FLLID 3. 1972
D. auenr elevmiHsmelT LUTHIGTILF FLLID 4. 1873
A B C D
a 1 4 3 2
b. 4 1 2 3
C. 2 3 1 4
d. 3 2 4 1
e. alemL Gafwealsdenso
116.  During the early resistance against the British who issued the “Tiruchirappalli Proclamation”
a. Veerapandia Kattabomman b. Velunachiar c. Maruthu Brothers
d. Puli Thevar e. Answer not known
SRBCWTHEDSEG — eaFgmer  bustey  egiider  Gurg  ‘HopEFHgrivetad  LysLersHms’
GleueMuilL L 6uiT
a. alyumemngul &L L QUITLDLDGIT b. Geugy mTEFFHWIMT C. WwmFH FCHTHTH6I
e. als8meu e. alewL Gafwalevenso
117.  Match the following
Name Related to
A. Swami Sahajananda 1. Oppressed Hindus
B. M.C. Rajah 2. Tamizhan
C. Pandit Iyothee Thass  3¢INandanar Kalvi Kazhagam
D. Veerasalingam 4. The Widows Home
A B C D
a. 3 1 2 4
b. 1 3 2 4
C. 1 2 3 4
d. 4 1 2 3
e. Answer not known
QUT(HSHHIS
Quuwir O TLITLemL WG
A. seuml) FEMMBHST 1. oliged® anfleinherd
B. M.C. gmegm 2. Hiflipest
C. uemngl. SIBWTSHHHTEFT 3. BhHSOMT Hevald HLPHLD
D. afGrgeimisid 4. alpemel Bevevld
A B C D
a 3 1 2 4
b. 1 3 2 4
C. 1 2 3 4
d. 4 1 2 3
e. allewl  Ggflualsvenso
118.  Match the following
Tinais Their Gods
A. Kurinji 1. Kali
B. Mullai 2. Murugan
C. Marudam 3. Indra
D. Palai 4. Tirumal
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119.

120.

121.

A B C D

a 3 4 1 2

b 1 3 4 2

c 2 4 3 1

d 4 2 3 1

e. Answer not known

CQUTHSHHIS

e euor BL_6)6IT

A. @Behd 1. el

B. (ipsvemev 2. (P(HEB6IT

C. wmsb 3. @bHyer

D. uremev 4. FH(mLomed
A B C D

a 3 4 1 2

b. 1 3 4 2

C. 2 4 3 1

d. 4 2 3 1

e. alenL  Gaflwalsvenev

Gandhiji established as ashram at Sabarmathi. Likewise an ashram was established in Tamil
Nadu by Rajaji. Where was it established?

a. Madurai b. Vedaranyam c. Salem

d. Thiruchengodu e. Answer not known

SMHAWIGH6T  FUOSH | eleaid. BLSFHev h FToD o hamsdlenT. o6x Gured @pmegred
SUOIPSHHFH60 QH AT 2 (HouTshH il 6hibs Diengd 2 (HeuTshdleriT?

a. LDGIEN] b. Geusmyewtuid c. Ggeuld

d. FmFeshtst@ e. allewL Oafiuialsdenso

In 1921 at Erode, E.V.R. picketed toddy shop. Two women also participated in picketing. They
were the first women to be arrested for picketing toddy shops in Tamil Nadu. Who were they?
a. Nagammaiyar and Kannammal

b. Nagammaiyar and Moovalur Ramamirtham Ammaiyar

c. Maniyammaiyar and Muthulakshmi Reddy

d. Maniyammaiyar and Nagammaiyar

e. Answer not known

FGITLIg60  192184b  SLewi(  F.CeU.JT.HODBTL 1960  H6lEhHHemL  opsluied GumymliLLd  [BL S eIT.
SILBUTEH Ayewi(h GCuemiaseT SeumLer GFmbgl wpsluied GumImlLSaed FGULLEIT. Seualm GCLemaeir
FHTe  H6MEHHHenL  WwPlwed CuTITLLSHHe0 FOULLSBETE (WHT (PHeJed MBH CEFuIlILL L euTsHe6l
SIQUTHGT WImT?

a. [BISHLELWITT LOBBID SHewT6uuTLDLOT6IT

b. BISEDWTT OBBID CLPEIGTT GFTOTOTHID DIDEDHLOWITT

C. SHEUIeNIDIOT6NT OBMILD (LPHHIO6OL & L 1g

d. wewflwibentowImT BEBID HTSDELOUWITT

e. alewL Gzflualsbenso

Which of the following are correctly paired?

1. Nizhal Thaankalgal - Vaigunda Swamigal
2. Hindu Progressive Improvement Society =~ - Rajaram Mohan Roy
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3. Samarasa Sanmarka Sangam - Vallalar

4. Self respect Morality - Vedanayagam Pillai
a.1land3 b.1and 2 c. 1 only
d.1,2and 4 e. Answer not known

gflwrsl QuUIBSSIUL L Cxmysamend @g,ng;@g,@&,esmw

1. MIPed SHTRISEOHEI EMEUGH WL FEUTLOSHET
2. @pa wilurdse (WaTGeabs FhisLd - gregmymb Gomsedt Fmul
3. SOJF FIDTTHS FHIHLD - GUGIT6ITGVMIT

4. swoflwres Buisbsd - GougmpTwsd LlsiTenern
a. 1 wBpd 3 b. 1 wBpbd 2 c. 1 W@

d. 1, 2 wBpn 4 e. alewL Oz Muwalsdensv

122.  Match the following books with their authors and find the correct order

A. Ulagam Sutrum Thamilan 1. Desiya Kavi
B. Gnanaratham 2. Swaminathan
C. Thanneer Thanneer 3. Ve. Ramalingam
D. En Kadhai 4. A. Karuppan
A B C D
a 1 2 3 4
b 2 1 3 4
c 3 4 2 1
d 4 1 2 3

e. Answer not known
ulwed I @6d o 6o HiTeb&mend L 1puled [1- @60 o eitenr mreomdfulirsemL 1 QUT(HHHIS

A. 2 o&lD FBBID, HLOLDET 1. Capfluissa
B. @ememsib 2. GUTLOBTSHE0!
C. pewieniT Hevwreunfi 3. Gel. BJToeimisD
D. e6it g 4. 6. &(HLILIGH
A B C D
a 1 2 3 4
b. 2 1 3 4
C. 3 4 2 1
d. 4 1 2 3
e. alemL O flwalsvenso

123.  Choose the correct meaning for the following sentences:
Palakudai Neezhalum Thankudai Keel Kaanbar

Iravaar Irapparkku Ondru leevar

These two statements appreciates the prowess of the king
These two statements appreciates the philanthropists
These two statements eulogizes the farmers

These two statements talks about the humble person

Answer not known

DEHFTEmID FnBBIBEHSG W CuUTHSHSWTET QuTHemens GHiTey GFuis
LIGV&HEML. [BLOGVILD HHIGHML HSDH  SHTEILIT

@TeuTT @ILIUTTSE 60Tl FeUT

Beuaiyeni(h euflasepd opsfler Gumenwenwill Guaa e

. Beualyenih euflaseEnd eueitenelesr GLmeMWemWIL CUTMBLIS GIB6T
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124.

125.

126.

Cc. Beualgeni® eufldemnd o peuflent GLIHEmemWIL GLgE 6Tt
d. Seiealyewip euflaend Lewiaemeneufler LewienLl GUTHBHIS aime.
e. alewL Ggflualsvenso

“Kavarum Kazhagamum Kaiyum Tharukki

Ivariyaar Illagi Yaar” - to whom does the advice is said in this Kural?

a. Guards b. Ambassadors c. Munisters
d. Kings e. Answer not known

“SoUmID HPB(PD MBUD H([HBHSD)

Ao @eveordl W’ - BdH@GHM6T WT(hd@G DiSleyeny Fnypismg?

a. STEU6VITH6IT b. snsiaitse C. DIMLDFFTH6I
d. Gaubsirsel e. alew OzMwealsoensy

Find out the missing value in the given figure

a8 b. 64 c. 216 d. 25 e. Answer not known
CeBTBSSILLL. LLSFled ailBuLL  eewionllen Lol ImLIs SiTewmis

' b. 64 c. 216 d.25 e. sflenl Ofwalsoemen

a
Solution
b5-4)y=1
(7-2)3=125
(11-8)3=27
9-3)3=216

‘A’ can finish a work in 18 days and ‘B" can do same work in the half the time taken by ‘A’, then
if they work together, then what part of same work they can finish in a day.

1 2 2
b. E C. - d. E e. Answer not known

A @m Gouemevenws 18 BT Heailed (psFmTT. B 9185 Geaumevenwl (p9Hd A 6o BT SHerfled
uT&Hlenw! eIhbHMIT elelled DmHeuHd CHFIbHAH @h BTaTed (PHGD Gouensvuie Si6e| 616367

1

9

1 2 2
b. 5 c. 7 d. E e. alowL  GaMuwialevemev

®
O |-

oY)

Solution

41 | Page Ph: 044-24339436, 42867555, 9840226187




127.

128.

129.

The side of a metallic cube is 12 cm. It is melted and formed into a cuboid whose length and
breadth are 18 cm and 16 cm respectively. Find the height of the cuboid.

a. 6 cm b.7 cm c.8cm d. 10 cm e. Answer not known

2 BouTaHFHT0 T Q(h HOFFHTSHAT USS Sene] 12 6F.15. SiHmenr o ((hHd 18 GF.15 mHerd
BEID 16 GF.15 DIHeOWPD 2 66N @ HAFOFMUSLD 2 (HUTEEUILBIBH. DbHSH HOIFOF6lIeUHHS 6T
2 _WJSHMBHE HIT6wISH

a. 6 Q.16 b. 7 Qg8 ¢ 8 G5 d. 10 G e. alewL Oafweaisoensv
Solution
a®=Ixbxh
_12x12x12
~ 18x16
h=6cm

A car travels 90 km in 2 hours 30 minutes. Then the time required.to cover 210 km with the
same speed is
a. 5 hours 50 minutes b. 5 hours 30 minutes ¢. 5 hours 20 minutes

d. 6 hours 50 minutes e. Answer not known
Q@M wLAWHSH 90, b SMHmSH 2 _ioewl 30 HbLmSefed  FLEGW. D6H GaussHHsd 210
S LenTd FLB& LS Gy

a. 5 wewil 50 Pl_BiGe b. 5 wewil 30 PO Fise C. 5 wewll 20 BIOL BiGH6IT
d. 6 wewil 50 Pl FiBeN e. el O MNuelsdamen
Solution

Time taken to cover 90 km = 2hrs 30mins .

— 180 minutes 1 hour = 60 minutes
2 hour = 120 minutes
150 .
Time taken to cover 1 km = 90 minutes.
) 150 .
lime taken to cover 210 km = Eleﬂmlnumﬁ

= 350 minutes
= 5 hours 50 minutes

Thus, the time taken to travel 210 km is 5 hours 50 minutes

The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of their heights is 5 : 3.
Then the ratio of their C.S.A. is

a.5:2 b.5:3 c.3:2 d.2:5 e. Answer not known

Byewi GBT e L 2o (hewendefen SImiseier aldsd 3 : 2 eeis. Goab Seumpsler o uwigmigerer
aldab 5 : 3 aeled SeuBpler euemenUTLILHeMeT &S

a.5:2 b.5:3 c.3:2 d.2:5 e. alewL OxfNweaisoensv
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130.

131.

Solution
2zrh _ rh
2zrh, th,
3x5 5
2x3 2

If price of a tea increased by 20%, by what percentage must the conusmption be reduced to
keep the expense the same

2 2 2 2
a. 155% b. 165% C. 175% d. 185% e. Answer not known

Bzpulemevulerr aflemev 20cp SiF&MNSGLOLTH  Bxpulemev LwETUTL Qe  OF6vey  LOTBTOED  E(HHS
Bzpulemev LILIGTUTL 19606 61SHHma FHAIBHLD GHMBSHHISH0HT6TeN Gouemi(BLD?

2 2 2 2
a. 155% b. 165% c. 175% d. 185% e. alewL  Gafwealsvemsv

Solution
Let the original price of the tea be Rs.100.
The price of the tea is increased by 20%.,

Increased price of the tea = 100 +100[%j =120

Increase in price = 120=100=Rs.20
Tea of cost Rs.20iis to decreased out of the increased cost of Rs.120.

Percentage decrease = ﬂxloo = @ = 16E
120 3 3

Akila scored 80% of marks in an examination. If her score was 576 marks. Find the maximum
marks of the examination.

a. 640 b. 680 c. 720 d. 700 e. Answer not known

oiFoor @ BxTaled 80% HICUEITEMmETT CQUBBTET. SjeueT QUBBE 576 WHICLETIH6T. DiHS
Bxitallelr GLOTSHS LHIOLICHIBMENS HTENIH

a. 640 b. 680 c. 720 d. 700 e. alowL Gz Muwaledamev

Solution
Let the maximum marks be x .
Now, 80% of x =576

80 _
—Xx =576
100
= x =576 x@
80
x =720 marks

Therefore, the total marks in the examination =720.
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132.

133.

134.

135.

‘Promoting soil health” and ‘making rainwater harvesting compulsory” - These statements
relates to

a. Green revolution b. Blue revolution c. Evergreen revolution

e. Yellow revolution e. Answer not known

‘IemtauenHmd  BbupHHIHe0” wBpID  ‘wewhT  Csfllmu  SULTWILGSHIH -  BdHFmMBHmIL 60T
OHTLTLEmLUIG)

a. ugenlILyL &) b. Beoriyg f C. U&emwimer Lyl gl

d. wehFeir Yy & e. alewL O fNwalevenso

Which are the articles that describe situations and confer power to Union Government to claim
control over states

a. Art 368 and 313 b. Art 356 and 363 c. Art 365, 256 and 257

d. Art 349 and 350 e. Answer not known

6bd FLLMIG6T @GHenevd &H(hd OTHL DF&ssemen WHHW DFF SLBUUGSSHID DI STIHIS6NT
Fn 3155 GOTB6T.

a. g3 368 wmmid 313 b. sydha 356 wBmID 363 C. FIHH 365, 256 wB@ID 257
d. srda 349 wBpbd 350 e. alewL Oafwaisbensv

The functions of Reserve Bank of India are

i. Issue of coins and Bank notes

ii. Banker to the Government

iii. = Regulating credit in the eotintry

a.iand ii only b. i ‘and iii only c. ii and iitonly
d. i, ii and iii e. answer not known

@bsHuw Mairel eumlgsluileir | ClEUIEOLIT(H S 6TToU6T

1. [BTEOTWIRIGEIT BN ehuTUl GHTH GeusfulBaHev

ii. SITSFTRISSHBHMBE , RIS WTENTTS g UIe0LIHH60

1ii. BTLI960 HL6TT (PemBHMET Q(LOMIGLIBSHSHISHE0

a.i wmpid i G b.i w@pb iii w G c. il wmmub iii il BHb
d.i, i wmpnd iii e. alowL O fNuelsvensv

How many pairs are correctly matched?

Vaccine Nature

1. Pfizer - mRNA vaccine

2. Covishield - DNA based vaccine

3. Covaxin - Inactive vaccine

4. Sputnik. V - Viral vector vaccine

a. 1 pair b. 2 pairs c. 3 pairs
d. 4 pairs e. Answer not known

asHHemenr Cmmoser Fflwns GQUTHSSLILL (BHeiernen?

&b O&wev

1. Pfizer - mRNA a6

2. Covishield - DNA sgiiuent_ufleomer @i
3. Covaxin - QFwediphs HOHUILS

4. Sputnik. V - mauged GeudbL T HoHUILS

a. 1 Gggmg b. 2 Gmmgmel C. 3 Bxmmemei
d. 4 Gxmmgmer e. alewL Oz fwaledenso
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136.

137.

138.

139.

Tamil Nadu State has which of the following policy/policies?

1. Tamil Nadu R and D Policy

2. Tamil Nadu Life Sciences Promotion Policy

3. Tamil Nadu Footwear and Leather Products Policy

4. Tamil Nadu Fintech Policy

a.1,3and 4 b.1and 3 c.1,2and 3

d.1,2and 4 e. Answer not known

SOWBTH THevD Leeumd CsTeTens / QETeTiansseaied 6ensd GLBMIeTETS?
sOHTH R woppid D uredd

—

2. s0ppT@H Life Sciences Promotion umedel

3. OWHTH STevenll BBID CHTed COUTIHL ST LTV

4. FOWDBTH . NS d uTedd

a.1, 3 By 4 b. 1 wBmbd 3 c. 1, 2 wBmb 3
d. 1, 2 wBmn 4 e. alew OaMwalsoensv

SINCE ALL THE ABOVE FOUR POLICIES HAVE BEEN INTRODUCED BY THE
TAMILNADU GOVERNMENT GIVEN KEY IS DOUBTFUL

Which of the following are correctly paired?

i. New India and Commonweal - Mrs. Annie Besant

ii. Kesari and Maratha - Bala Gangadhar Tilak

iii.  Indian Opinion - Gopal Hari Deshmukh

iv. Indu Prakash - Mahatma Gandhi

a.iand ii b.i, and iv c.1and iii

d.iii and iv e. Answer not known

LTedTeu(mHeuesTeumsien « eiened SN QLIS |6iTerent !

1. P, ShHHWT BBILD SToseie0 - HE0S. DieTENCLFEIL  DIDEDLOWITT
ii. Gxafl LBE@ID WFTHST - UTEUSBIGTH]T 60T
iii. BHHWIT BIHSSH - Gamured amf CHad(pd
iv. @bal LysTerd - IDHTHIOT HMH)

a.i wmpd ii b.i wBpb iv C.i wmmb iii
d.iii By iv e. alewL OFflwalevensv

What are the pillar of block chain technology?

1. Transparency 2. Immutability 3. Decentralisation
a.land 2 b.1and 3 c.2and 3
d.1,2and 3 e. Answer not known

Uenmds GFulleir GILdbeammeueduiieir SHITewTaHe6lT 6lenel?

1. GeueflliLenL &&H6TenLD 2. LTBIHED E6VEVTHSI 3. LJ6UeUTEG SH60

a. 1 wBpw 2 b. 1 wBpwb 3 C. 2 Bpid 3

d. 1, 2 g 3 e. alewL OaMuialsdensv

Which of the following act was described by Jawaharlal Nehru as the ‘Charter of Slavery’?

a. Government of India Act of 1909 b. Government of India Act of 1919

c. Government of India Act of 1935 d. Government of India Act of 1947

e. Answer not known

SPEHTamID FU L MIH6MeD 615 Digenndelledr LILLWID 66 euamieomsd Ghmalermed afleufldaliu L g)?
a. @pFHu SPFTRISSF FULID 1909 b. @bFHw opsTEIBF FULID 1919

C. @b SFTRISF FU LD 1935 d. @b opgFTRIBEF FULID 1947
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140.

141.

142.

e. alemL O flwailsvenso

The steps adopted in the long term conservation strategy of wild life is/are

i. Hunting should be strictly prohibited in the nation parks, sanctuaries, biosphere reserves

ii. More national parks and wild life sanctuaries should be established

iii. = Captive breeding of wildlife should not be encouraged

a.ionly b. ii and iii only c.iand ii only

d.iand iii only e. Answer not known

QU6 @I6VRIGHHEMETL LITHIBTHGID HewlL &HT60 aUlfl(penmaHefle OBHTLT SIDFRIH6T 6T6TLIN6

1. Cxpdlw UMISTEHD6T, FTauTeowmiseT, o ulTéaGsmen Smliushiser SidluleBnied Goul el WmBeug
gL Oguwiwiie Geuewi(BLd

ii. Guoaid CHFW LMISTEHD6T LOBHID eUaTalevnhig FTemITeOWmISeT HnleuliL Geuemt(HLd

iii. auatallevmigdeflesr Fenpliul L @IICLHESHMS 268EGHaldDHHInL T

a.i @B b.ii @b iii G d.i wBpid ii @G

d.i wBmd iii w G e. alewL Oz Muwialsvensv

Which of the following statements about the citizenship Amendment,Act, (CAA) 2019 are true?

1. Citizenship will be granted to all the foreigners who lived in'India for more than six years

2. Citizenship to members of Hindus, Sikh, Buddhist, Jain, Parsi or Christian Communities
from Afghanistan, Bangladesh and Pakistan who entered India on or before 31 Dec, 2014

3. Members of specific communities will be granted citizenship within 6 years instead of 12

years

4. The CAA will helpto the preparation of National Register of Citizens
a. 1 and 2 are true b.2 and 4 are'true c.3 and 4 are true
d. 2 and 3 are true e. Answermnot known

Guflew Hmsses gL (CAA) 2019 uBdw Weleu®dd gnBupIEaisd 6151/ clenel 2 amlenLowlTaneney?

1. @bFHwraled 6 WIbHEHEHHEG . OCwsd aumTbhd Smarhdl  OCeuelBT RaIHSSGHD  Glufleno
QUPMISLILIBLD

2. osralevsTer, LUGMm@Had wwmmILd urdlevsteallsd @mba aubdH 31 gFbuT 201468 (1pei
BAbsUTAIBG6T  HIMWhHS ObhHsbHen, FoHWTHeT, OUNMSHTH6T, mMEITH6T, UTTFHH6M DI60L6VH
fleroglen Fepamiseller o mpileaTaendsd Goufleno

3. eulilL  Fopsnsmend GCFMHIaTHEHHE 12 WIBGHEHHEG UHOTH 6  Lel([BHBHEHEHE 6N
Glgwflento  aupmBIBLILIHLD.

4. @uwssaiar Cadlw uHCalemL swurfiiiugles CAA o geb

a. 1 wppw 2 g b. 2 wBpd 4 & c. 3 wppid 4 &

d. 2 wBmp 3 i e. alewl OxfNwalevenso

Find the mismatched answer about the Indian Railway Zones

a. Southern - Chennai
b. Central - Jaipur

c. Northern - New Delhi
d. Eastern - Kolkata

e. Answer not known
eteumereummien  @pbaul  gullebBGeu  ewiLevd  GPSHH HupTall  QUTHSSLILL BHeiTen  alenLenuid
BTN

a. CemeE - OFeirene
b. wsHwLLEGS - Qeguigt
C. Q&G - ygl Hevel
d. Swds - QBTLBHHHT
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e. alewL Ggflualsvenso

143. was the contemporary of Emepror Akbar in England
a. King John b. Queen Elizabeth-I c. Queen Victoria
d. King Charles II e. Answer not known
SIBLT BTeVHFH60 DhIFeohHend O d CFuigheuT
a. LDGYIGOIEHT QT edT b. waeomb Gyreni eedF6LG c. @gmeni allaGLmilw
d. ewsmT SyeNIiLmb gmiTeverd e. alewL OQFflwaisdensv
144. Meadows Taylor observes that the death of was ‘the beginning of the end” of the
Bahmani Kingdom
a. Mahmud Gawan b. Ahmad Shah c. Mahmud Shah
d. Humayun e. Answer not known
QBLmTerd GLuIeViT a1 Jewlld UTaBoel S Fuller (pgalet SLIDLD 6T6TBI & (hHSeTTT
a. LDAMBLDS SH6UTes b. oabwd agr C. LDABIDS AGT
d. emeomuyest e. alewL Ozfweaisbensv
145.  Match the following
A. Garo 1. Assam
B. Kuki 2. Mizoram
C. Todas 3. Tamil Nadu
D. Miri 4:Arunachal Pradesh
A B C D
a. 2 4 1 3
b. 1 2 4 3
c. 1 2 3 4
d. 2 4 3 1
e. Answer not known
QUT(HSHHIS
A. &1@ym 1. ©lerenmid
B. &g 2. 108gmyb
C. Gami 3. sODBTG
D. i 4. omeoTFFeolIITCHFD
A B C D
a 2 4 1 3
b 1 2 4 3
C 1 2 3 4
d. 2 4 3 1
e. alewL. Gaflwailsdenso
146.  Choose the correct match

1. Ariz-I-Mumalik

2. Mushrif-I-Mumalik
3. Dabir-I-Mumalik

4. Mustaufi-I-Mumalik
a.1,2and 3 only

d.1, 3 and 4 only
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- Minister for Defence

- Accountant General

- Minister for public grievance
- Auditor General

b. 2,3 and 4 only
e. answer not known

c.1,2 and 4 only
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147.

148.

149.

150.

Fflwrsl QurmbhHweuBens CHiTw

1. 9oflad-m-(pwredd - UTHISMIL DIeNLDF ST

2. (pedfli-g-(pLomells - HEMELENIDSD 6018 HT6NIT

3. smiiT-8-(wwredd - QUITHIDSHHET GHMBATLIL] DIDIDFSFT

4. (adFHeal-e-1pomelld - HECLEDIDG, 6wl SHUITENIT

a. 1, 2 wmmib 3 1w’ G b. 2, 3 wBE@IDd 4 W G c. 1, 2 wBmib 4 wr Gb
d. 1, 3 wBmid 4 ' Hd e. alowL OsMNuelsamen

Which constitutional amendment incorporated Puducherry in the Union of India?

a. Tenth b. Twelfth c. Fourteenth

d. Twenty second e. Answer not known

sbd SFmLiLS Hhdsd LHFCsfonw b @amlussled Goidhsai?

a. USHIHTeug) b. ueeiyesiLTeug C. U GITeIIBToUSDI
d. ®musHulyewi_meaig e. alewL Oxfwalevenso

Arrange in chronological order

1. Sarkaria Commission 2. Balwantrai Mehta Committee
3.Rajamannar Committee 4. Administrative Reforms Commission
a.2,3,1,4 b.2,4,3,1 c.24,1,3
d.4,2,3,1 e. Answer notknown

S 2 slenauBensBs STevauflenaILGSH SIS

1. gT&eTiwr  SemeuTuLD 2. UedeUbBSTTUI CLHST &0

3. JTEQLOGTEITT (G)(LD 4. pliteuns FTHHSHD SLenewILILD
a.2,3,1,4 b.2,4,3,1 c.2,4,1,3
d.4,2,3,1 e. el GpMweailsdensd

Which of the following statement(s) is true about the union territories of India?

1. From 26t Jan 2020, Dadra and Nagar Haveli and Daman and Diu are combined to a single
territory.

2. Articles 239 to 241 in Part VII of the constitution deal with union territories

3. The two union territories from the former state of Jammu and Kashmir are Ladakh and
Jammu and Kashmir

4. The largest union territory of India is Andaman and Nicobar Islands

a. 1,2 and 4 are correct b.1 and 3 are correct c. 2 and 4 are correct

d. 2, 3 and 4 are correct e. Answer not known

@rrr,ﬂu_lrr@ﬂam UL, 607l UL1 60T ﬁu(%g,&rhj&,smmu uBpslw Leteupd gmBpiseiled 61 2 ewrenin?
26 meteufl 2020 (1pFHeL HTHIT WBBID HTHTOBCME) WLBWID LMD OBMILD LW, Sdluwiener @Gy
Caaons BenentdbaliLL (H6iTeme.

2. opflwevenoinier  VII uggulsd o 6tem 239  1pged 241 euemguieomenr  Nfleysmeit  uleofulest
LyCapamizer GIGTL TLIT6Ten6

3. (b W omBlevomer  ubp wBmid sTedsflear @yewih welwer LIp6hamise, e0LMTEH  LOBMID
MU LOBWID SHTAJST HLESLD

4. @bgHwreler WaslCuflw welwer LUgCsab bsLome WwBBID HHCHETUTT Hedei

a. 1, 2 wpmid 4 &M b. 1 wBmb 3 & c. 2 wpmid 4 &

d. 2, 3 wBmid 4 & e. alowL O MNuealsdamen

Choose the correct answer:
The fundamental rights have been described as

i. The Magna Carta of India
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151.

152.

ii. The Conscience of the Constitution

iii. The soul of the constitution

iv. Inspiration from bill of rights of American constitution

a. (i) and (ii) only b. (ii) and (iii) only c. (i) and (iii) only
d. (i), (ii), (iii) and (iv) e. Answer not known

&6 o erenauppBledmbad  Filwmer ugemev  BHTHOBHBHEHBMWD. SlgliLienl. o fleniosmel
alleouflSalILBGSBSI

1. @bFw wssefer o fenwsefler gmFend

ii. ofluweveniolifet weTaml &

iii. @flwevemioliNet ST

iv. 90wiéds flwevamwliiear o flewser wWeFTHTalm 2 5HGCasD

a.iwmmpb il wl B b. ii woppub iii ol G C.1o@mmud iii 1 (Bid
d. i, ii, iii wpmd 1V e. el Ggfwalsbemnev

Match the following;:
Committee Year

A. Goswami committee on electoral reforms 1. 1993
B. Vohra committee report 2. 1998
C. Indrajit gupta committee on state funding of Elections * 3. 2008
D. The second administrative Reforms Commission 4. 1990

A B C D
a. 1 2 3 4
b. 3 2 1 4
C. 2 4 3 1
d. 4 1 2 3
e. Answer not known

SpSHTemILIBMBL  CUTHIHSHISH:
GICY LI

A. Gaitzed FrHmesmimeT GFHTLiumar GsTerosumd @1 1. 1993

B. Gamm g onsms 2. 1998

C. spder Hweliiny cpeoonss CHisse UBBW BhAHTeds GUST &Y 3. 2008

D. gyewi_noug fitaunss FHmss Spmeaniub 4. 1990
A B C D

a 1 2 3 4

b. 3 2 1 4

C. 2 4 3 1

d. 4 1 2 3

e. alemL O flwalsvenso

The process of establishment of an organisation in a new habitat is known as

a. Ecesis b. Migration c. Immigration

d. Coaction e. Answer not known

T 2 ulfl Herg UHW aumPL HHe0 Heitener alflOUBGHHID CFUIGD TSI

a. HMEULILIBSHSHIH60 b. yeoliGUWITES C. GUIBHHLD

d. saaimer e. alewL Oz fuialsdensv
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153.

154.

155.

Which of the following characteristics of science is not true?

i It is guided by natural law

ii. It is testable against the observable world

iii.  It's conclusions are permanent

iv.  Itis falsifiable

a. (ii) (iii) and (iv)only b. (iii) and (iv) only c. (iii) only
d. (iv) only e. Answer not known

aflalweder LleTeuhd LIewLH6Me0 615 2 6wIenLouisuen?

1. Bg BuUBME FULHSHT0 aulfl BLHHUILGBSHMBSI.

ii. BF FBTEHamUl 2 0SHHMBE aHITE BFTHdbssHamiguig)

iii. B (PI96H6T BITHSTLOTETen6

iv. Bz QUTUIWTESD Fnlguig)

a. 1ii, il oBmb iv 1wl B b. iii wBpb iv WL GHb c. iii (B
d. iv wl @ e. alewL Ozfweaisoensv

Assertion (A): Critical thinking focuses on what causes a belief

Reason (R): Critical thinking entails evaluation, and formulation and it operates
according to rational.standards in that beliefs are judged by how well they
are supported by réasons.

a. Aistrue but R s false

b. A isfalse but R is true

c. Both A and R aregsite, R is the correct explanation of A

d. Both A andRare true, and Risnot the correct explanation of A.

e. Answer not known

ammm (A): 2 Wi FhHFwer, @B BOLUSOHBmW  gBUBSHSIMUHD (PpEHEW  SHTTERIOTS
SIS B!

smyenid (R): o i - fhpemen  eI@iLg  WHIWIG BB o (heuTdslh  QEWeBenB
IO, () (I ¥: [V LOMBBILD GV UGSHSBIe & Blemevas6iMeiiLilg
CEweLIBGEBEH. DIbSH  BOLIGMBHET  SHTTEVIBISENTE  6l6lel6Ne  FABLILITS
A HMNHBLILBS OB TS cLpeOLD HTLOTeN HBLILIBGSBESI.

a. A gfl, gemed R seumi

b. A seamp, semed R &l

c. A oppid R @rewig af, wBpid R eaeugy A elBg gfwrer alendasiomngld

d. A oppib R yewibid #f, wipd R aeug A alBeg gflwrer efendsioeoe

e. alewL Gzflualsbenso

If ZEBRA can be written as 2652181. How can COBRA be written?

a. 3102181 b. 3152181 c. 3182215

d. 3182181 e. Answer not known

ZEBRA eneu 2652181 eremr srpseomid etetimred COBRA g s1apslin@n?

a. 3102181 b. 3152181 c. 3182215

d. 3182181 e. alewL Oafweaisoensv

Solution
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156.

157.

158.

A BCDEFGHI JKILM
12 3 4 56 7 8 910111213
NOPQRSTUVWXXY Z

/Z—26 E—=5 B—2 R—18 A—1
Thus,
C—3 O—15 B—2 R—18 A1

The instrument used to measure the atmospheric ozone concentration is

a. Dobsonmeter b. Barometer c. Hygrometer

d. Anemometer e. Answer not known

auaoaiL 60 FHle0 2 6iten @Gamal SHILTHHMW Senall o LCWTEs@G Smal

a. GumiBamesr O LT b. uGym WL C. omam&Gym O LT
d. &efGwr LT e. alewL Oz Muwiealsdensv

Which among the following is/are wrong about a fertilizer?

i. Fertilizer must be insoluble in water

ii. It should maintain the pH.of 10 to 13

iii. It should not be peisonous to plants

a. only iii b.| iand ii cl 1,11, il
d. only ii e. answer notknown

BHHTEID FnBEBIBEH6L & ThIS6T GHBHS HUBTET Tl 61517

1. o JhIseT Biled EHmILITEH BHHHe0 Geuet(BLd

ii. o gmisel 10 weHed 13pH &g ugmoflssed Ceuewi(BLd

iii. ® JRIB6T SHTOUJRIBEHHE BFHFHHENMTS B(HHHED Fnl TG

a. iii @G b. i wBmd ii c. 1,ii wbmub iii
d. ii w @G e. alowL Oz fNuelsvensv

Which of the following statement is correct about the aim of Pradhan Mantri Uijwala Yojana

(PMUY)

a. to provide Health Service and Clean Environment to Rural Women

b. to provide clean energy fuel of liquified petroleum gas to all rural households

c. to provide clean water and environment

d. to provide quality food and health

e. Answer not known

Ursw  whHfulesr o geureor Curgem S sHear (PMUY) Ber ol Grpréassbamsll  Lb

Uelleu(bld Fn@Bmideiey 6hd el Fiflwmenng?

a. aarems GFmel LBBID SHHHOTET SFBBIFGLLME SHITOLDB &HeT(HheHE eUpmied GCeauemi(BLD.

b. omaisa  Hymoiys  IGsEHEGSID  Hreuorasiul L &HHswrer QU Gyreduw  euTu]  SLBBEL
e QUT(HEMENT  GULPMIGHSHEV

C. &HHOTE SHeWewiT WBBID SBBIFGLMme0 6UpHIS Geuemr(BLb.

d. aspwrear o e WLBEBID HHTHTTEHMS 6UPHIE Geuemi(BLD.

e. alowL Oxflwealsdenev
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159. What are the Forms of Central Bank Digital Currency (CBDC) proposed to be introduced by

RBI?

1. Account-based 2. Token based

a. 1only b. 2 only c. Tand 2
d. neither 1 nor 2 e. answer not known

@bHw  famel  aums  SPWPSILGSHSH 2 6Tem  emowl  eukISuler  OUIBST  LeTeTam LGt 6
SIMLOLILEH6IT  6T6leUTBTETen6! 7

1. aumdd BmiHE SgliLienl ulleomerg

2. SMLWITET l6Len6V

a. 1 wl@Gw b. 2 w @ c. 1 ppid 2
d. 1 b Sevenev 21D BeL6EN6V e. alewL O fwaledenso

160.  Which among the following is/are not associated with “Catch the Rain” campaign?

i The campaign is launched by National Water Mission

ii. The campaign drives to make check dams and water harvesting pits

iii. =~ The campaign stresses the removal of obstructions in the canals

iv.  The campaign requested the central institutions to open rain centres to guide people to
harvest rain

a. ionly b. ii and iii only c. 1andiionly

d. iv only e. Answer not known

Lelteu(heussiouBmIell QUISSSHHIL 6T CHTLTLHEV6THSI 61517

1. Bbs Bussonearg Cardlul BT Usfluimed OHTLBISILL L S

ii. BbdH BUISBLOTOIH,HBLILIMEIHET BB BT BFs iy G BLOIYSMEBHMET DIMDHIBSHI.

iii. BHTeLUTUIHET60T 2 61TeN  HENLBeM6T DSBB BAhdH BDUlHHLD 616 IWBISHHISEBS).

iv. wenp BT BsHs LEHEHES UHBIL LML - MOWBIGSMET SHBHSWIB Db QUL 31
wSHIHW Bipeuemisemer CHLbBdH GCameniGeengi.

a. i w’ @ b. ii“toBmd iii L B C. 1 o@pub ii @b

d. iv w’ B e. alewl Oxfwalevenso

161.  The abbreviated term VVPAT stands for
a. Voter Visit Poll'Account Trail b. Voter Visit Press Audit Trail
c. Voter Verifiable Paper Audit Trail d. Voter Verifiable Paper Account Trail
e. Answer not known
VVPAT aaniib spéasliulLE Qamed @Gpitiug)
QUTSHSTENT UHMS UTHOBBLIL HEOL (LPenB
UTHSTENT OFHeileuTer LSHHTNHnD Hewldemd HML (LHenDB
UTSHSTENT FAUMTSSEIIQUI BTHHH HewdHm®B HEML (NN
UTHSTONT FAUMTHSEHIQUI BTHHDH HEwdhE HDL (LMD
allewL  OFflwealedensv

a0 o

162.  Assertion (A): The desert region of India can be divided into two parts - “The great

desert” and “the little desert”.

Reason (R): Between these two deserts lies a zone consisting of rocky land and cut up
by limestone ridges.

a. Ais true but R is false

b. Both A and R are true, and R is the correct explanation of A

c. Aisfalse, Ris true

d. Both A and R are true, but R is not the correct explanation of A
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163.

164.

165.

e. Answer not known

sapp (R): @hdHumalear utemeaell uGHow BIai® ugHsemmall  Lfdseomd  “Gufiw
UTeneveuenTd’ BmId ‘il UTeneveedTLD’

smyenid (R): @bs B UTmevaEISEHSHmL G LTenB [Blevld BEBID SeEmBTeRITDLSS60 (LPHBESH6MTE0
Geul LI’ L. @(h LDEWIL 60D ©_6iT6Ng).

a. A app gfl gemmed R smyewid sHeuml

b. A smm wBpio; R ampenid QyewiGo &M, wBpid A sapupibstear R sryeod &

c. A spy oy, R smyewrd g

d. A spp wipb R sryembd @rewihio af, gemed A gEmBpibster @ryenid R Heup)

e. alewL Gzflualsdenso

Which of the following is responsible for protecting humans from harmful ultraviolet rays?
a. UV-A b. UV-C c. Ozone layer

d. None of the above e. Answer not known

SHnG ealmeanald@ld LB eaghtd sHiTHeled @mbaH LONSHTHMET LTHISTILS LleTelheuemsled 61gi?
a. UV-A b. UV -C c. @Bamast LIL6VID

d. Guwed 2 _siemener ©606V e. alewL Oz fuwalsdensv

M. Visvesvaraya’s birthday is celebrated.as Engineer’s Day in India. He was the Dewan of
which Princely state?

a. Hyderabad b. Jodhpur cgfMysore

d. Gwalior e. Answer not known

M. alevBsusrveuruiwimaiiest Hpbabrer Sbaluwimeilst urslwmenT Henorsd CemewiL T LuGEBE. SieuT
6b&® FLOVSHTOTHEHT HEUTITD  BBHSTT

a. MABHITUTS b. GgmLT C. GOLDGIT

d. @euredui e. aloL OsMNuelsdamen

Read the following passage and answer the item that follows:

Agriculture continues to be the backbone of the state economy, as it provides livelihood
security and food security. The overall crop yields in the state is bright. The South West
monsoon rainfall was normal and its even distribution helped to recharge of groundwater
considerably and kept the state with adequate storage. All these factors made the irrigation
scenario in the state encouraging. As a result more area was brought under cultivation. The
government also provided adequate and timely supply of inputs through its agricultural
extention centres. Sufficient and timely crop loans were made available for the eligible
farmers through primary Agricultural Cooperative Societies.

Which of the following is best implied in the passage?

a. Agriculture of the state still remain a lifeline for the people

b. Due to proper rainfall and government effort to provide agricultural loan and inputs
agriculture turned prosperity.

c. Primary agricultural cooperative banks play a crucial role in agricultural development.

d. Over exploitation of ground water to agricultural sector will affect the growth of other
sectors.

e. Answer not known

eiteu(phld LUSFHedWl LgSHdH Diend OFHTLIHE aumHD alamalBeg alenL wierll.

rHlev  QUTHMTHTIHSHeT  (PHICBHIDLITE  CouenmewtentoGul  OFHTLIHEHI o _6Tengl. & aUTDHMBH
OamPed UTHISTUMUUD OBBID 2 ewia|ll UTHSTUmLWID Slefddpgl. wrpeots uulT  ellenenFaed
ysngors  Qmebangl. 0HaGB@&l  Umeauwenpll  Gumfle] SuieoUTEe b SIS  LGHHeaid
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166.

167.

168.

FIOWTE BHHSHHT0 HevdHdly BT GBUILSHHE Sene] Wern HIFbLIwg. Gsuld IHevGHHe0 Gumrgul

S BT AHUY  SEbSHEH. SoaumalsdHid  smyaisend  CFbamH  BIUTFST  GHLOEM6D

oasFHILBSHIHWEH. BDHeT aleveneuTd DIHS  HeomseT LulfliLiu’Ler. opsn  Gurghw  Geuenmeswt

o srefbaemend gflwmer CrysHaled Geuenmewt alfleurds emWMIGET cpsvld  aupmISer.  GurguieTey

uuwirdsLer gflwmer ChIHHed HGHujeren aleusTulseEndGHdh OHTLEH GelenTew! Fnl BB FMISMHIGHEN

CPeUID HleWLSHS eUend GFUILILILL L .

eteupd elhHF CFmBOmTLT GG o _sen uHHUleT o I ShHmeHF Fpluns CeueldbbsTamTadpg?

a. wmBlev GeuenmewienioGUl D&HHEHGHE BeTpid o UITIUTMSWTS 2 6TeNg

b. sflwrer weplIGUTHeuTend, GouenTewi 2 _eiefHes6T WOMBEWID HL6T cupmIdSLl rdler (puBwmeid
Gouenmemienio CF O ILIGHL [HSHI6NTeNG

C. Geouenmewt oIiaN(HHHUNeD CHTL s CeuenTewt Fnl BB6Y 6UMIBIHET (PSS LUMKIG 6 SHl6nment.

d. Geuenmewiniod@ Mevdhdly By OMSWTHI LWLSTLUGSSHIINS LB SHienpaere QUGNTFFemULIL
UT&H &G LD

e. alemL Ogfwalsdenev

Which is/are the provision inserted in the Central Universities (Amendment) Act, 2022

1. Establishment of Gati Shakti Vishwa vidyala

2. Providing high quality teaching, research and skill development in diverse disciplines
related to physical sciences

3. Upgradation of State Universities to Central Universities

4. Providing high quality teaching, research and skill' development in diverse disciplines
related to transportation, technology and management.

a. land 2 b. 2and 3 c. Tand3

d. Tand 4 e. answer not known

WHHWL LIOHM60HHLIBMRIFBEN (SBlHHSLD) FLL 1D, 2022 60 CaThalll L FISHDHEGH6T 6157

1. a8 65 aladaualdHuieon nBeUCILL 60

2. Bupiwed SMlelwed CHTLTuTer wedGap Himpdaied © WiTEHy SBLUGHH, UITUIFS  LOBHID
SBeIGDLUTEH  SpSUIIBMDB  CULPHIES 5H60

3. THeV LISVHEDEVBESLOBHIBMET LDHHWIL LIeDSHMEVSHBIDIRIGENTHS SHID 2 WITSHHIH60

4. Gumasgardal GamPsd mILLD wBBID Geuenmewieny OHTLTUTET LGB  HimpHeaied o WITSHy
&BUSSH0 SUITUIFS BEID Hmer G enL  6uLpkIE g0

a. 1 wBpw 2 b. 2 wmpb 3 c. 1 wwmpid 3

d. 1 wBpd 4 e. alowL O fNuelsvensv

Assertion A: When price decreases, purchasing power increases, and vice versa

Reason R: When the production of goods decline, the price of goods increases and

then the purchasing power is affected.
A is correct and R is false
Both A and R are false statement
A is correct but R is not a correct explanation
A is correct, R is the correct explanation of A.
. Answer not known
a&Bpl (A) : el GMBHSTL UTHIGL Fbd SHsNsdng LBBID B GHTOTBTEIHI.
smyewid (R): Qummefesr o BuSHH GoBhH, alensd SIHSNILSTE uThRIGD HBeT LTS SSILGSBSI.
a. A app sflwrerg, R smyewid Heupreing)
b. A sBm wBpid R sryewid @yewihio SHeupTeis)
c. A spp sflwneng, oemed R smyeword gflwmer alendsld o060
d. A spp sflwrerg, R smenid amm A & gflwmer elendasid
e. alewL Ggflualsvenso

a0 TP

Match the following;:
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Chairman
A. Kaka Kaleekar

B. Xaxa

C. Mandal

D. Justice A.K. Mathur
A B C

a. 1 3 4

b. 4 1 3

C. 1 4 3

d. 3 2 4

e. Answer not known

Committee

1. Tribal Development

2. 7th pay commission

3. Second backward class commission
4. First backward class commission

RN J

SLpSH BT aUBMBL  CILIT(HIHSHIH:

&H6M606UIT

A. star &8st

B. snéan

C. wewi_ev

D. smerdgerd A.K. wrghgmr
A B C

a 1 3 4

b. 4 1 3

C. 1 4 3

d. 3 2 4

e. alwL Ggflwalsvenew

©1CY

1. uprIGQuUieTT (LpeiTGermimLD

Tougl oamgld G(D

@yewiLmeugl LIBUGSHSUILLCLAT @&
wHeumeugdl LIBubGSHSIULCLIT Gap

Eall

=N NN g

169.  Arrange the following events associated with Periyar in chronological order:

Vaikkom Satyagraha
Kallukadai Mariyal

2,3,4,1
4,2,3,1

MEUBBLD FHHWTHTHLD
RSHBIMIPWITEOLD BUISHSHLD
H6ITEHHHEML  LOA5ILLIGD

P RO D A WON S

. 2,341
.4,2,3,1

Q.

Non-Co-operation Movement

Leader of Chennai Congress Committee

b. 2,4,3,1 c.2,1,3,4
e. Answer not known

uflwWmpLeST FOUBSILLL Habeasmend &mev euflenaliuy aflend LBGSHHaD

CFTemeT HTRISToO HLOL LY HEMELGUT

b.2,4,3,1 c.2,1,3,4
e. alemL Oaflwaledenso

170.  Choose the correct chronological order:

oo T

. Answer not known

Rajadhiraja I, Parantaka I, Kulothunga I, Rajaraja I
Kulothunga I, Parantaka I, Rajadhiraja I, Rajaditya I
Parantaka I, Rajadhiraja I, Kulothunga I, Rajaraja I
Parantaka I, Rajaraja I,

Rajadhiraja I, Kulothunga I

&mev auflengiiLg sfwneaeuBens CHTHOSH / (WeBLILBGSHSIS:

a. @ymerdyregest I, upnhasear I, @Gaonsamisear I, @preyyregesr I

b. &Gansamsea I, uymbssar 1, @yrerdrmmear I, @yremrdsswr 1
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171.

172.

173.

174.

175.

c. ugmbsaet I, @rmemradyreer I, @Goondhamisear I, @rreyyregesr I
d. umbssa 1, Syremyregen I, Symendynege 1, &Geunsagimise 1
e. alewL Ggflualsvenso

Who said, “Tamizhodu Isaippaadal Maranthariyen”?

a. Thirugnana Sambandar b. Thirunaavukkarasar c. Sundarar
d. Manikkavasagar e. Answer not known

“FOCLTH BenaF LT 60 LoBHBHBIGWIET” 66Tl LIMQuieuT uwimr?

a. FHmEpTen FLbHSHT b. Hmpreysaya C. &GbBIT

d. wrenldseurgst e. alewL OaMuwealsdensv

Which Tamil Poet injected the spirit of Nationalism and National Integration?

a. Bharathidasan b. Bharathiyar c. Sudanandha Bharathi
d. Kavimani e. Answer not known

abd SO HalepT Chdwd wBBID CaHFW QHEMWLILITLIGE © _6wITe|Hem6N  GHITENIIQ6ITT?
a. UMy&HeTaes b. umygwim C. GHTbHSH LTI

d. salienf e. alew OzMwealsoensv

What was the royal emblem of the Rashtrakutas?

a. Lion b. GoldenEagle c. Tiger
d. Elephant e. Answer not known
greRerdaL THefer Capdlul Jererd ereiner?
a. dmsb b. sm&s & c. 4ed
d. wmenesr e. allewL Ozfuleaiedensv
Match the following:
A. Thaarugan 1. Thaer Chakkaram
B. Aazhi 2. Arakkan
C. Natriram 3. Thevar
D. Imaiyavar 4. Araneri
A B C D
a 1 2 3 4
b 2 1 4 3
C 3 1 2 4
d 4 3 2 1
CUITHSHHIS
A. FT(hse 1. BxT&FHaID
B. o 2. SIFHDH6
C. mBBiBD 3. Gzeuft
D. @enwwieur 4. 9IBOHM

A B C D
a 1 2 3 4
b. 2 1 4 3
C. 3 1 2 4
d. 4 3 2 1
e. alemL Oaflwalevenso

Which among the following Inscriptions mention the ancient word ‘Madura’?
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a. Inscription at Siddharmalai
c. Inscription at Mamandur
A. aand b only

D. cand d only

b. Inscription at Alagarmalai

d. Inscription at Paatipuralu
B. aand c only C. band d only
E. Answer not known

LNeoTeu(HLD B0 (HH6ril60 QYT 60O 196D ‘oglgm’ 6TGTENILD LILDEmLDULIT 60T QFmed
GBI LU Beieng)?
a. fesioemer He006aIL (B b. supsioeme SHe0G6L (B
C. LDTDGRIBT SHe0OlGUL (B d. utsHuTen HeLOLU B
A. a wBuib b o G B. a wBpib c wl @b C. b wsmibd d w @G
D. c upmid d @G E. alenr Gxflwalsvenso
176.  Read the following and pick out the correct statements:
i Musical Pillars is one of the wonders of the Nayakka King’s Rule
ii. Music created by rhythmic hitting of stones is wondered by International Musicians
iii.  In the Thousand Pillared Hall of Meenakshi Temple in Madurai, one can find small
pillars that exude music when played upon
iv.  The Arthanaareeswara Temple at Rameshwaram consists ofPillars than can be played to
bring out the seven swaras (Notes)
a. iand ii alone are correct b#i, 11, and iii alone are correct
c. i, 1i, iii and iv all are correct d. i, 1ii, and iv alone are correct
e. Answer not known
Uelieuhd OFHTLemIll LgHHSF Ffumarendd CaHihosBeHee|Lb
1. BTWSHS OGNS Sl Fuled o (hHeuten allSHSHE DML  DDFSHHMEWIH6T SHLEGLD.
ii. FH606VT6L BengeniL eI(LpLIL|ID 6N 6V(6hITH 61T 60T 60 &6L6I01600TLD EXICH LieoTeotTL (b
SNl EHTHEDHD, Wb CUTBBIS GIB6MIT.
iii. wglemy  WemiSuibiossr Gsmuiedey o 6Term  UITHIGTEL NI LGHH60 L0 M SHTewIHel
o siTenenl. @FHleD. oot Bl Sremid BT @6l 6TIPLILUMSHDS SHTET6OTLD.
iv. @gm@LoerdeuLD SITGHBHTTeeusT  Camuiedied o g6 SHITCUIH61160 g 6TOGUTRIG6IT
@6UsaLILBMMmBE BB HEVTLD.
a. 1,ii gdwemen L Hid &l b. i, ii, iii eyPuwieneu
c. i,1ii, iii, iv oemargsid g d. i,ii wBgw iv spFwemer I G &
e. alemL Gafwealedenso
177.  Find the missing number in the place of?
112 |3
4 1 5] 6
71819
27138 | ?
a. 49 b. 50 c.51 d. 52 e. Answer not known
Al(BUL L 6TETeN6T SHTEwISb.
112 |3
4 1 5] 6
71819
27138 | ?
a. 49 b. 50 c.51 d. 52 e. alowL O MNualsamen
Solution
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178.

179.

180.

In the first column, (4x7)-1=27
In the second column, (5x8)—-2=38
So, missing number =(6x9)—3=(54-3)=51

The next term of the Alphanumeric series C4X, F9U, I16R, is

a. K25P b. L25P c. L250 d. L27P e. Answer not known
C4X, F9U, 16R ereti3  s1ewiOemnpsha QHTLMlev8 oibHs o mii]
a. K25P b. L25P c. L250 d. L27P e. alewL Oafweaisoensv
ABCDEFGHI JKLM
1 2 3 4 56 7 8 9 10111213
NOPQRSTUVWXY/Z
14 1516 17 18 19 20 21 22 23 24 25 26

First series is of 1st letter

3,6,9,12

12—L

Second series consist of square of 2,3,4,5
52=25

Third series consist of last letter24,21,18,15
15—-0

Thus, L250 is coerrect.

A mat of length 180.mis made by 15 women in 12 days. How long will it take for 32 women to
make a mat of length 512 m?
a. 8 days b. 12 days c. 16 days

d. 20 days e. answer not known
180 15 mengpeiten @ UTullewenr 15 Guewider 12 BT Sefled OFUISHeT. 512 15 Hem(peiien  e(h
utullener 32 OewIs6T QFUILI 61HSHMeT BT H6T LEGHLD?

a. 8 [BL el b. 12 mm seit C. 16 [BIL &6l
d. 20 ®BIBeit e. alew Ozfweaisoensv
Solution

- - 512x12x15 :
180x32xx =512x12x15 = x = = 16 days.
180 <32
An apple costs X 60, a guava costs ¥ 90 and a mango costs I60. How much a pomegranate cost?
a. 360 b. 9 c. 3120
d. 150 e. answer not known

o <ider (Apple) alensv Rs. 60, @m Garuwr (Guava) efemev Rs. 90 w@Bmib @b LombLpLD
(Mango) aiemev Rs. 60. @ wrgiemen aienev ereileueney?
a. Rs. 60 b. Rs. 90 c. Rs. 120
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181.

182.

d. Rs. 150 e. alowL OzMuielsdmed
Solution

The cost is equal to the number of vowels in the word multiplied by Rs 30 for every fruit.
Answer: Rs. 150

In what time will ¥ 8,000 at 3% per annum, produce the same interest as I 6,000 does in 5 years
at 4% simple interest?

a. 5years b. 5%2years c. 3 years

d. 3%z years e. answer not known

OIF60 @h. 6,000-6& 5 YMIBHeNed 4% aillg, aiHHH0 DML G SHelauigud, SiFe 8,000-&G
3% ey oinpsHe HOLEGL SN el lgud  FWTS OHEGD 6N, DUBHET BB BH6I
eIaIRIETAITS B (HHEHLD?

a. 5 o ewiBsei b. 5% eyemiBser C. 3 SLewmiBHa
d. 3%2 syemibsel e. alewL Oafwaisoensv
Solution

6000x4x5 8000x3xn
100 100
~ 6000x4x5

~ 8000x3
n=>5years

Find the HCF of the polynomials 6x3 =30x2 + 60x - 48 and 3x3 - 12x2 + 21x - 18
a. (x3-3x+2)(x=1).3 b. (x3-3x+2)(x-2).3
c. 3(x-2) d x-2)(x-1)3 e. Answer not known

6x3 - 30x%2 + 60x - 48 wmppd 3x3 - 12x2 + 21x - 18 g ueoBIIs Camenauseier 15.GUT.6l.
PTG,

a. (x3-3x+2)(x-1).3 b. (x3-3x+2)(x-2).3
c 3(x-2) d x-2)(x-1)3 e. alenL OQzxfwalsienso
Solution
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183.

184.

7 52 +10x—8 |2 — 4"+ Tz — 6
2° =52 + 100 — 8 )
22 —3z+2
r—2
230+ #* — 52" + 10z — 8
o' =30 + 22 (=)
—22" +8x—8
—22% + 6z —4 (=)
2z —4
implies = 2(z — 2)

r—1

r—2 |2 —3x+2
(-)

2 — 2
—r+ 2
—zr+ 2 (-)
0

Here, we get zero as remainder.
GCD of leading coefficients 3 and 6 is 3.

Thus, GCD |(62° — 302" + 60x — 48, 32" — 1227 + 21z — 18); = 3(x—2).

Simplify : 100 8.+ 2+ {3 % 2)=6 = 2}

a. 123 b. 107 c. 113 d. 103 e. answer not known
amhd&s: 100 +8 + 2+ {3 x 2) -6 + 2}

a. 123 b. 107 c. 113 d. 103 e. alowL O MNuwelsamen
Solution

100+8+2+{3x2)-6=+ 2}

=100+ 8 + 2 + {6 - 3}

=100 +8 + 2 + 3
=100 +4 + 3
=107

Pick out the correct abbreviation for the word ‘PURA’?
Providing urban amenities in right areas

Providing usual amenities in rural areas

Providing urban amenities in regional areas
Provision of urban amenities in rural areas
Answer not known

P oo
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185.

186.

187.

188.

PURA aaignid GQamevedlest sflwmer alfleurdsshmapd CHTbOHMHHS.
Fflwrenr LGS Haled BBTULB UFHH6T 6ULDHIGH60

&Mool UGS H6M60 6UIDSHHLIOTET AUFHH6IT  GULDHIGH60

OEWTL 6V LIGHAHH6MeD BBTILB UFHH6IT QULDMHIEG)H60

Symoliyp LUGHHelled BSTILB UFHBHM6NT JBLIBHHHIFH60
allenL Gz Mwealsvenev

oan o

Which of the following measures have been taken to attain the aims of the new industrial
policy?

1. Industrial Licensing

2. Foreign Investment

3. Foreign trade Policy

4. Public sector management

a.1and 4 only b. 2 and 3 only d. 1,2 and 4 only
d.1,2,3and 4 e. Answer not known

SdbeemiauBpleT  LHw  OamPBesteiemsule  ChTasmismen  SMLeusBEG — Comosmeitemil L
(PEMBEHET  WITeneU?

Camfled o b

SIWOBTL B (PH65B

SIWGVHTLB 6uTeniudh OCsTeTend

QUTEI SlMB HliTeuTasLD

a. 1 wBpb 4 WG b. 2 wBpId 3 WL B c. 1, 2 mmId 4 wL (B

d. 1, 2, 3 wBpd 4 e. alewL Oafwaiedenso

Sl e e

According to Indian' Tourism Statistics 2022, which tourist place is most visited by Foreign
tourists?
a. Taj Mahal b. Statue of Unity c¢. Mahabalipuram

d. Varanasi e. Answer not known

@bFHw sppieor LeTed eleugd 2022 e LI SIBHWHTL G FBHIOT LWenIHeTe0 DiFHd Sjenaled Gmns
UMTeSUILIBLD SMBHIVT. SHeNLD

a. H1Y DABTEL b. 0Bl & &yt ujeme g C. LDABTLIEIL|TID

d. eumgesrmdl e. alowL O fNuelsvensv

Which one of the following is not addressed in Mission POSHAN 2.0?
a. Malnutrition in children
. Malnutrition in adolescent girls
Pregnant and lactating mothers

. Malnutrition in elderly
e
a
e

. GWHmHHeNer ol | FFHH GHMBUTH

. ugeo euwgdl Ouemiseller 2L FFHH GHeBUTH
. &TUdlenill QuewTEH6aT LOBMID LITETL B HTUILDTTEEIT
. awgl W hHalTeeller oL FFHH GHmBUTH

. allewL  OFflwailsvensy

b

C

d

. Answer not known

SpdbaremiLiaauBpiel g Cumage 2.0 HLSHH60 FapliLLTHHI?
b

C

d

Nehru-Mahalanobis planning model was based on the following strategies emphasised are
i. High rate of saving
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189.

190.

ii. Preferred a heavy industry

iii. Discouraged import substitution

iv. Safeguard infant industry

a. iand ii correct b. i, ii, and iii correct c. i,1i, and iv correct
d. i, ii, iii and iv correct e. answer not known

Grm — waeoCETIed FHL wrHf Leeumh o SHHsemen aueduBISHHISHMBS).

1. 9Fs Gzl eaisb

ii. sams 0aTheasd (Weraifleno

iil. @mé@0wd LN (h 2oHHL06ETeno

v. ysw Osmhese uTsHisTiiy]

a.i wmmub ii & b. i, ii iBmid iii & C. i, ii ommd iv g
d. i, ii, iii By iv &M e. alew OzMwealsoensv

Match List I and List II and select the correct answer using the codes given below the Lists:

List I List II

A. Resignation of Congress Ministries 1. 1943

B. Neil Statue Satyagraha 2. 1942

C. Quit India Resolution 3. 1927

D. Provincial Government of Free India 4. 1939
A B C D

a. 4 3 1 2

b. 2 1 4 3

C. 4 3 2 1

d 4 1 2 3

afleng [ o et aflens I -emerll QUTHSS auflewssensdd S CaTBHHUIUL(HeTen OHTGLILTei6TerT
gflwmenr alenLuilmensd  0Hfley OFUls.
aufleng I aufleng 11

A. sTRFTH HIDFFTm LGal alevdHed 1. 1943
B. me0 Ffewev FHwTEHysid 2. 1942
C. OousiteneniBen GateGuiml SHToTed 3. 1927
D. sazbdly @hIHmaler LOTHTER SFFTHISLD 4. 1939

A B C D

a 4 3 1 2
b. 2 1 4 3
C. 4 3 2 1
d. 4 1 2 3
e. alemL O flwalsvenso

Which of the following is incorrect?

a. The Indian National Congress boycotted the First Round Table Congress

b. Gandhiji attended the Second Round Table Congress

c. After the Second Round Table conference the Gandhi-Irwin pact was signed
d. Communal Award was associated with Third Round Table Conference

e. Answer not known

LelTeu(heuasieuBsled SHeumTerensd 6Teneu ?

a. (paev el L Bweng wIET L. @bHw Capflw smmdyed Undsanihsal

b. smhded Syewiimeug el L Gend LOTHTL 1960 LKIGHBMTT.
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191.

192.

193.

C. @rewiLmeugl el L Goeng omBTlIgBE el &Mbha - BTelar @Uubsld gmul L g
d. sbweed Seumi@ epapmd el L Gweamg WMHTCLIEG O&HTLTLEL WG
e. alewL OFflweaisdensv

‘Damin-i-koh” was the land given by the British to the

a. Santhal tribes b. Kolu tribes c. Garo tribes

d. Munda tribes e. Answer not known

‘Lmdler-@-Caman’ elaanild Hleold SmIsGewITSH6NTe0 & QUPBIGLILIL L G|

a. FhHMev ULPmIGIQuile b. Gasmed LipEIGHIQUNGIT c. a8ym UpBIGIgUileTT
d. (pewiLm Lpmiglgu et e. aleowL Ggflwalsvenso

Consider the statement given below and choose the correct answer:

Assertion A: Cultural diffusion is the spread of cultural beliefs and

social activities from one group of people to another

Reason R: Cultural landscapes have been defined by the world
heritage committee as cultural properties representing the

combined works of nature and of man

a. Both A and R are true: R explains A

b. Both A and R are true: R does not explain A

c. Aistrue Ris false

d. Aisfalse Ris true

e. Answer not known
SHHTEID  UTSHBWIBISm6NS  B(hHSHeV CETenih OBTHHsLILLBeTeneuBled  Fflwmer  alledLenwid
Gaitey GauiweLb.
ampm (R): seordamyll UFeued cIadilgl SHeOTFSFT) HLOLHeNBS6T OBMBID Feps
CFWLTHHET Q(H G Walel(hhdl LBOBTH GUWaIBGL UJa|aSHTGSLD.
snyenid (R): seom&eny, HleosCamBBID 6ailgh “@uBens LBMBID Lo SHeuf e
QHBISDEHS: LIDLLILGHMmeTdH GHBISGD SHeOTFFMY LeRILSH6T 6l o 60kl Lmybufluis
& (LPGUM6EL ~ GUEMTUIMIEBLILIL (6.

a. aBpl (A) wBpib R smed reviGn oM : gwBpy A sryenid R semer gfwmer afendastd

b. sBm A wspd R amewd SpeniGn &M : smBm A oBpid smyend R — ssrer sfumer
all61& &L06060

C. amm A gfl smyeod R seum

d. sbm A seam smembd R &

e. alewL Ggflualsvenso

Choose the right matches

1. Khizr Khan - Orissa

2. Durgavati - Gondwana
3. Rana Udai Singh - Mewar

4. Kunwar Man Singh - Ajmir

a. 1and 2 are correct b. 2 and 3 are correct c. 1 and 4 are correct
d. 3 and 4 are correct e. Answer not known
gflwmenr QuUTHGHSEIBmen CHiT6] OFUILIAD

1. danT srer - eflgm

2. gIismag) - GamemrL_sumentT

3. gmenim o Swidm - Goeurt

4. BT OTHIFAB - SEIST
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194.

195.

196.

a. 1 1oBmib 2 gflwmetene b. 2 wBpb 3 sflwreaene Cc. 1 wpmd 4 sflwmereneu
d. 3 wBpid 4 sFlwmearenel e. alewL OHflwealedensv

Assertion A: Federalism is merely an institutional arrangement for sharing power
across multiple levels of government based on the principle of shared rule
and self rule.

Reason R: Federations, have constantly adjusted and adopted depending on political,
social, and economic situations.

a. Ais true butR is false

b. Both A and R are true and R is correct explanation of A

c. Ais false but R is true

d. Both A and R are true but R is not the correct explanation of A

e. Answer not known

ampm (A): SULT H eaiug udyiulL o d oBoid aw o d e@id OB meTenduies
Sl uled SIFFThs HBeuamseiear L Hemeudeaied SIHSTIL  LFelenevd
OBTemI(HeTT6N G

snyenid (R): FULT b6, SFwed, &epd OBBID  OQUTHEINSTT  GloeNSGHBL  FHLDenLD

CamLTFfwns gf QFUIg SHIeUMDSHIDH 6HTEITE 6IMB6T.
A il gemmed R seum
A vppd Rafl oppid R eemwg A g1 sflwmer eflendasid
A sap spemmed R &l
. A opgib R s gemed. R eteig A a1 gflwmenr aflendsid “ o060

Con o

allenL O Mweledenad

Which of the following statements about the Guptha society is true?

1. The Guptha emperors called themselves as Parama Bhagavatas

2. Trade with Rome 'and China flourished

3. Women were debarred from exercising public rights

4. The custom of Sati was practiced by them

a. 1 and 3 are correct b. 3 and 4 are correct c. only 4 is correct
d. 1, 2 and 4 are correct e. answer not known

SPEGEUILLIUGUBed GUSTHET STevF FUWHTWD GBNHSH Fnmmiseiled Fflwimeiensy eTeneu?
GLSH DIPFTHET SHENBIGE6NL LUJDLUTHIST 610D DeDIPSHHIDH O\bT6mTL 6urT.

1.

2. FemejLeid. GyrupLenid elwmunyb CFH&HHSHI

3. Ourgl PapdFdsaies LRIGOUB OUEITSEHHGHS HOL E(HHHHI

4. 2 L @ISl gMID UPSHSD E(HhHHSH

a. 1 wpgib 3 gl b. 3 wmmb 4 & Cc. 4 wl B &
d. 1, 2 wBpd 4 & e. alewL OFflwalsdensv

Which of the following are wrongly paired?
1. Obligation for the state and individual to protect environment - Art 48A
2. Early childhood care and education for all children until they complete- Art 45
the age of fourteen years
Separate judiciary from the executive in the public services of the state - Art 39
3. Voluntary formation, autonomous functioning of cooperative Societies - Art 44
a. 1,3 and 4 only b. 2,3 and 4 only c.1and 2 only
d. 3 and 4 only e. answer not known
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Leteu(heuaieuBpled HaUBTH EenentdbSLILIL L enal 6T6n6l?

1. sBBIFGWmeLll LUTHSTHS DJdH LOBHBID SHelBLfler SLenn - alg 48A
2. SIDABSB GSPRHDSHEHHGSID 14 QWG PQUID IDT GBS

U@ ugmoflliy oBmId seve - alg 45
3. wmhevdHer CuTaF CFemeuseller BTauTasHHelmbeH Sl BHHHHmn - alg 39
4. HEIQNMT6U 2 _(HaUTHBID, Fnl BBe] Fhmismibeller SHerearm & Ggweoun - allg 44
a. 1, 3 wmpid 4 w’ G b. 2, 3 wBmID 4 WL GO c. 1 w@Bmid 2 1w G
d. 3 wBmI 4 W GO e. alewL OFflwalsoensv

197.  Identify the incorrect statement Lok Adalat
a. Lok Adalat is a mechanism for speedy trial of the disputes
b. It is not a tool of the legal system
c. It is a kind of forum to settle cases in an amicable manner
d. Lok Adalat goes to the people to deliver justice at their door steps
e. Answer not known
‘Coumd SIFTevd’ LUBBIW HeuBTen UTHHUISHMS eIl 5l
a. Goord SIFHTELSH 6IGTLUSHI @(H UDHGHBMeT allenIhHl (LPIP&HH6I6060 6ClFUIeVemLOLIL]
b. 8 gL gmwilar sHal 6060
C. QUPSGHIHEM6N FLOTHTEN (LPeMBUled (196 s LidTemiBou] b 6UMBUITET LOGTNBLD
d. Gourd SiFHTeVS HE6T auTFB LIYHCHCFHIH B QIPRIGBBSI
e. alewL Gafwealsvenso

198.  Match the following:

Subject Protected Year of the enactment
A. Beedi and Cigar worker 1.1979
B. Contract labour 2.1976
C. Equal remuneration 3.1970
D. Migrant workmen Employment Regulation 4.1966
A B C D
a. 1 2 3 4
b. 4 3 2 1
C 3 2 4 1
d 2 3 4 1

e. Answer not known
SIS BT UBMBLI  CLIT(HIHHIH:
LITSHISTEHSH60 SumBpr’ L. sLeE

A. g wppid a6yl G mideoreniTaer 1. 1979
B. @uubsgd Gambleoreniael 2. 1976
C. g0 eamguib 3. 1970
D. yeod Quuwit Gxmbleomeni GeusneveumuiiL] eLOMISTHBBISH60 4. 1966

A B C D

a 1 2 3 4
b. 4 3 2 1
C. 3 2 4 1
d 2 3 4 1
e. alewL OQFflwaisvensv
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199.

200.

Who said, Delegated legislation and administrative tribunals are the manifestation of ‘New
despotism”?

a. John E. Kersell b. Sir Cecil Carr c. Lord Heward

d. D.L. Hewit e. Answer not known

FULIOWMBID SIHSTT QUL LD, BiTeursd STUUTWRISEHD “UdHw  Freungdsrysdler”  Geusilium®
a1e01s  Gnplwleul  wimit?

a. mrar E Gaimeaed b. 1. fdled it c. eom anfleumi(®

d. D.L. anflel” e. alewL Oz fuwiealsdensv

Match the following;:

A. Pitt’s India Act, 1784 1. Decentralization of the Legislative powers of Governor General

B. Charter Act, 1813 2. Governor - General’s Government was known as Government of
India for the first time

C. Charter Act, 1833 3. Appointment of Board of control of six members

D. Indian councils Act, 1861 4. Deprivation of East Indies company’s monopoly of trade in
India

A B C D

a 1 2 3 4

b 3 4 2 1

c 4 3 2 1

d 1 3 2 4

e. Answer not known

SLpSH BT aUBMBL  CLITHSHSHISH:

A0 @bFwFEL LD, 1784 1. seuienit - Omeipeden &l L AWMBRBID DIHBTIHIGM6T DS HTILI
LJ6ueuTHSID  GIFUISH60

B. gngens slL1b, 1813 2. (Pl  (PMBUWTS  HeuTenT - Oamyeder SIFFThISD ‘Gbhalw
SITFTRIBLD 6T SHIEWIDSHBLILIL LG

C. gngens &l L1d, 1833 3. LWl o mlifereemend  OBTewIL &L (LU eumfluid
BBl SLILIGSH60

D. @bdws sea|eaided gLl b, 1861 4. @pyureled SHpsdhHws  sbouaiules aTHsHs

WpBoIflenwenuwid Gemm&HHe0

A B C D
a 1 2 3 4
b. 3 4 2 1
C. 4 3 2 1
d. 1 3 2 4
e. alewL OFflweaiedensv
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